TG

e TAIQI SEIKO ¢

oroduct manuals




TG

e TAIQI SEIKO ¢

s B o & N

AR RS (B ARAAZREAZ MRS, £FE%. &t £&HEA—FRRKLESEL. BATEERN. EASERE. SHEZRBEIT.
EEMEE, ARSAFHTHORIZHEAEE . ANTHNARAMRHBIEN, REEAFRBRANRES N, BLRATERNITLHREE.

WRILVE A BT AR, SIEMRERSES FREIRERAR. mRESFEHAIXALRAS & —RIEREESRE, FRFAZOSHEEN
IR IMAK. ~mZREAE, BEMNH, MEA—, FUEHFRT, BETZN0EHIENEE, Mmii2E. AREIEEFHX. [EETE 150-9001 E
FRAAEEIRERE. 15014001 IMEETRFZR .

RIFN—BEERNMAALIFERZ—, RNEEAFREMNLARZENZFAPRE, CEAFALTAINZPER. F5 “THEE, SHER
#w WS, EANRIHITHEI, ERSAIEFERR.

“am e R NS A1ERR”, E TRENEASENR AL ER LSRN &R RAREE Ee NS, ORI,

B Company Information

TaiQi Transmission Equipment(Shanghai)C0.,Ltd. is @ modern integrated enterprise locates in Suzhou China , with independent intellectual pro
perty rights, which intergrates its development ,design and manufacture into a whole. Company covers 10,000 square meters with three
manufacturing buildings . Committed to ring blower, side channel blower design, production & sales.

To produce the world’s most top products is our purpose The product is adopted the fluid machine techniques imported from
Germany ,molded with .Aluminum alloy ,processed on precision CNC machine ,make it more reliable& durable. With outstanding performance and
excellent quality and superior cost efficiency , the products sell well throughout the country ,and are exported to West Urope & North America.

Staff training has always been one of the priorities , Holds “continued beyond the times” , improve the quality of all staff.

“Customer demand is our pursuit”, We sincerely welcome friends from various circles at home and abroad come to visit .Meanwhile , we
await for you to co-create the brilliant .



1 daudineial

n SFHEE
AR, FHERT. LE0H
Credit, innovation, achieve
“win—win”

m ERGE
CURRIR—fr Bin, BRAE P RirEs

Top cuality , your best choice

" ORHAS
., H. B8, 3

Rigorous, unity, dedication, progress

" ATRE
&P RRARAER

Customer demsnd is our pursuit




TG

e TAIQI SEIKO ¢

B £ conreEnTs

< AHFMOTHEME Gosdngpumpworkingprinciple ol S AN / ( )/ 000001
< SRERIEHERINSEE Gas ring pump structure and decomposition 2

< iS5 Product features and advantages 3-7

< BFEEBSENMIZFR product selection of reference and schedule 8-12
< 2PB-1AC %5818, ghzk. R[] 2PB-1AC series product selection parameters, curve, size 13-16
< 2PB2-3AC %5 EBIS# . dizk. R~T 2PB2 -3AC series product selection parameters, curve, size 17-20
< 2PB3-3AC Z75izRI&#, Mz, RT 2PB3-34C series product selection parameters, curve, size 21-24
< 2PB4-3AC Z¥kA 8%, #hzk. R~ 2PB4 -3AC series product selection parameters . curve . size 25-28
< 2PB5-3AC Z51ERIS#, dazk. R~T 2PB5-3AC series product selection parameters. curve ., size 29-32
< 2PB6-3AC Z5iEBIS# . dizk. ]I 2PB6=3AC series product selection parameters, curve, size 33-36 _
< 2PB7-3AC Z75)ixRI&#., #izk. R~T 2PB7-3ACseries product selection parameters, curve, size 37-42

< 2PB8-3AC Z¥)ixRI&#, #hizk. KT 2PB8-3AC series product selection parameters, curve, size 43-48




2PB9-3AC RFERS K, #hik, R~T 2PB9 -3aCseries product selection parameters. curve. size 49-54
4PB-1AC R SENVIEE S, Bhik 4PB series of selection parameters. high pressure fan curve. size 55-56
4PB-3AC RS ENYIEEI S, Bhix 4PB series of selection parameters. high pressure fan curve. size 57-64
2PB (213/223)fe R 1 EE S8, BiZk 2PB (213/223) pump selection parameters. curve 65-66
2PB (233/413)feF ERIS 3, Bzt 2PB (213/223) pump selection parameters. curve 67-68
2PB (423/433)e R 1EEIS . MLk 2PB(213/223) pump selection parameters. curve 69-70
2PB (513/523)fak 1 E81& 8, #itk 2PB (213/223) pump selection parameters. curve 71-72
2PB (533/613)yjaR RIS, #hik 2PB (213/223) pump selection parameters. curve 73-74
2PB (713/723)uR 1 EREIS 8, Hi%k 2PB (213/223) pump selection parameters. curve 75-76
2PB (733) feF 1 ZBISH, %k  2PB (213/223) pump selection parameters. curve 77-78
2PB R 1EH LER~T 2PB series pump instaliation size. 79-80
SRITIWEB industry application case 81-84




TJ6

SHAEITIERRA

Operating Principle

|8 Side Channel (2

M3 Impeller 3

HA O Outlet 4)
B [0 Outlet J

SHAREHEERZEEEIETL RExeTEMESR, BT RHREEERIRN FANEIFERANEEZT  HEBFRIMHTI KT
ER SR,

SEBERSO1RA , BEEAMEE 2 UG | B HE 3 Eiik 50 LA SE— P MRERNH A LB ODESEBIMVNEBE 2 #10,
BEE MBS BUETT | REBIEEEN , REVRMIEENSEEDE— BN, BEENEEELOERE  SERFHH FFBESHOEER 4 5

tH 3R 1%,

The impellers are mounted directly on the motor shaft for noncontact compression entirely without friction.Maximum operational reliability, even at

high differential is ensured by the arrangement of the bearings ocutside the compression chamber.




SHFEARGHE

Vacuum pump chart

001 | &= pump cover 011 | FEFE base 021 | BEF washer 005-2 | 8E§] screw

002 | MtEE impelier 012 | 32%T screw 022 | ¥ circlip 010-1 | SEEME mesh enclosure
003 | |k pump casing 013 | 8 FEM pressure-plate 023 | 0 BFESE o-ring 010-2 | SEE848 soundproof sponge
004 | BHEEF rotator 014 | P& screw 024 | m¥f hand ring 010-3 | 42§ screw

005 | EB¥L motor M5 | EERE fixing base 025 | #pRBEE wrap ring 011-1 | 42%] screw

006 | B#lls= motor cover 016 | $3F felt ring 001-1 | 42%] screw 011-2 | 42%T screw

007 | XMt fan 017 | k= oilseal 001-2 | 42%] screw 012-1 | 3#FEEE lock washer

008 | K& fan cover 018 | R screw 004-1 | 52 flat key

009 | REEHKE paper pad 019 | EREBH ware washer 004-2 | 288 flat key

010 | SEEE Muffle Tube 020 |3hE  oif seal 005-1 | 48%T screw




TG

* TAIQI SEIKO »

B SR )

Features and advantages

o Utk L2, AMUKETE, M T LEREr

improvement of traditional crafts, bearing front, increased stability

& KHELa Rt DRt e A

Using some of the imported parts, lengthen service life

o M RANAESE IKHERRAL, TAERNL
ZEVIH I T e ms, RIEEESEa 12

The shell adopts the high quality aluminum alloy one-time die-casting molding, machining parts

Completed in the cutting process, ensure the accuracy improvement of traditional technology

o MIHIWIT AR BN, EREYR R

) 267= i i i 20%
The design of the impeller through the accurate caiculation of argumentation, the performance under the same power ratio

Similar products increased by 20%



& & R 3

The performance advantages

100%7cil, JokE4SE, FTANSHEZ=RAENNA 1P BIGIRFER, F RES

W3 (50/60HZ) REFBEREHE/LFHF LA XENBRESER, HWANERT, wARESHIFRE, Be 7T BITAFMHMERASS

SIHTIREFIR S, AT EBENERNM R KA LIESE 300% , HESRERIEFNEBEIERBLD SEEHFERZPHENRE

R, MECRRAEFHERARE, BEMAH, AR, RAZE, BARAOBRIEANIVR, REFESRR, SKEREAZLHPRLE
MY, BSEESEEAENE, KA PROE, UG , CAD FHNEBNS T IREFZINRINME EE R

100% oil free compressed gas, water ring vacuum pump, motor, all are the protection class IP55, class F insulation

dual frequency (50/60HZ) and wide voltage can meet almost all regions of the world the voltage level, the extemal design of the bearing,
can bear high working temperature, improves the reliability and service life

the introduction of variable frequency drive new concept, than the maximum performance can be driven by a common motor is improved
to 300%, impeller and pump body seal forms the unique reduced pressure gas pressure loss in the process of compression

pump casing, impeller die-casting molding, sturdiness and durability, excellent heat dissipation, imported Japan Germany, precision
machine tool cutting, ensure the accuracy and quality, air pump through the surface of protective paint processing

products through the strict mechanical, electrical performance test, simulation demonstrate the use of PROE, UG, CAD and other

computer aided design software and motion



TG

s TAIQI SEIKO o

MEFTeE ZHER

Specifications complete, famous all over the world

B ZiA100 EMRESAETEEMERNAIER, KATTHEEMNSN (50/60HZ) B, FHiPHFR PS5 (BEFHRF K, FEitFEE M
7, BMALMARTEZR., HAXLRERKN, &R, KET, GEERBHEEIRRL, IS EFN %A MR EEREXR.

B as many as 100 kinds of products can meet your specific application of various requirements, with wide voltage frequency (50/60HZ) motor,
protection class IP55 (class F insulation), anywhere in the world, can be applied to wind morale ring vacuum pump. whatever in Europe, Middle

East, Southeast Asia, can be delivered in a very short period of time, our volume inventory of products can meet your needs.

MW B MTH R

variabfe frequency drive energy efficiency

B YEBHSEHE EERRR—ATNE, FEESHARESR. ERNATUETSENERNLEESRENSAE. XEaTRBNE
SIRG D RERMEREZMERIDN, NMBRISMISEHERE, ERESTERAKRR.

B directly when installing a variable frequency motor or the control cabinet, the gas ring vacuum pump, compressor of the same type can handle
more traffic in energy saving at the same time. This is because always precise control system to provide accurate power you need, so as to

prevent additional gas consumption, the system running cost greatly reduced.



REMREHT A

Flexible installation

B EEEREEERE, RAEEURS, XERERRKT ZEZKRMNZEREZR

B can be mounted in any direction, without any restrictions, which means that reduces the space requirements and installation costs

SHEHPRREE

Total quality management

B iR#E 1S09001:2000 B)AnE, RRIEMENEZAFBEMES —, NPT FR, £/~ TRLEURBEHHE X F, RINERRHAFRETH. BRE

TR REAMNAGERS. mRBEAESNTIZRDSENSREEFTTSN. ATHRIETBERE, A=mEOtaIfs, 2R TRTEEE~8T
TN ARARSRIERS. I TMREFRIEAGTAEXDRENE, FHRT 1S09001 AE, HELHFHOER. FFRIE OEM, NFEH AL, HHEF

H{ERERIIFGEFRASHH~m.

according to the standard of ISO9001:2000, wind, always put the quality and customer satisfaction in the first place, from the initial design,

development, production, order processing and subsequent customer support, we will always provide you the best service, system throughout
the product cycle. Technology progress and market success of wind and products with its high quality is inseparable. In order to guarantee the
high quality of products, from product design to delivery, wind, have been established for the reliable quality of each link of supervision to ensure

production system. The quality assurance system in conformity with the agreed standards, and through the ISOS001 certification, to meet the

requirements of the world. Also welcome OEM, ODM set product development, new product usage requirements and situations develop

satisfactory.



TG

* TAIQI SEIKO »

B ENEEEMH B SHESREFESIE 1, 000mbar EE——ZESTHEEMHSHRELSEN. BuLER, EXEEEEENEERRZERND
4PB ERMEEA, BEES, MASHER. NE, RTHERKRE, TERFXEMS, HNW P8 TREZTFTZNEF TR RNPITEDLITE

MNEEFFHBHUERNN~RESENRER. B SFAETREETENSEFOFEHTESIE 20, 000 /i,
B our revolutionary 4PB gas ring vacuum pumps can generate up to 1000mbar of differential pressure -- -- far higher than any other of the gas
piston compressor. At present, the other system can produce pressure range than our 4PB volume larger, more noise, and easy to wear. Now, in
addition to having low noise, no wear etc. these advantages, our 4PB can also be used in more severe conditions. Our engineers and designers

are trying to make our products become more quiet. 4PB gas ring vacuum pump can work continuously for 20000 hours without downtime

maintenance conditions.




How to select model




TG

* TAIQI SEIKO »

demonstration of the type

P8 2 1.0 H_O 6 He: =f8 three-phase A 220-240V /Y345-415V
TTT H7: =#8 three-phase A 345-415V/ Y600-720V
A:  BH single-phase 220-240V
vo: B single-phase 115-230V
BHLFSIS  The motor sequence number

0: (EE%L%E Any installation mode 3: EH LR Vertical installation
1: % Single impeller 2: W% Double impeller
3: BEGKWE  Single impeller Large flow 4: WEGAIE Double impeller Large flow

5: =FZ Three impeller

s The product serial number

2PB: H[EXL# Pressure fan 4PB: = EXUH high pressure positive blower

@yt ENRLIEREST (BEAT) AEEMBRINEE. FRUABERILSEEKX
Absolute pressure in vacuum (absolute pressure is zero) as the reference and the measured values obtained. So the pressure is greater than the

reference value



REZESTIHEXSEANNEE. FLUFEXSHEE, RLEIFNEESZHEEEKX
Gauge pressure is that measurement is higher than the standard atmospheric pressure value. The standard atmosphere for reference, so the

actual measured value is larger than the reference value

ETERBRTFEXRSEDBNEE. NEEEMAFEXRSE, FRLISERZEED
The vacuum is that measurement is lower than standard atmospheric pressure value.Measurement benchmark is still the standard atmospheric

pressure, so the actualmeasured value

Pa 0. 01 mbar

hpa 1.0 mbar
[/min 0.06 m'/h kpa 10.0 mbar
gal/min 0.227 m'/h mmH20 {mmAg) 0. 098 mbar
ft°/min {cfm) 1. 699 m’/h mH20 98. 07 mbar
m/h 16. 667 | /min at 980.7 mbar
m/h 4. 403 gal/min inchH20 2. 491 mbhar
m/h 0. 588 ft'/min{cfm) PSI | pdf/in2 68. 948 mbar




TG

* TAIQI SEIKO »

Selection and use of knowledge

1. DIN VDE 0105 Z(IGC 364 HE, FHBARTBNEERRENTIE.
FRRAG BIEE XZERFTARNBAL . RIMREEENFI. 28, BXFENIRENEHAEPENRTRERVENTE, FERERIREEED
ERFRXMLENREEE. BLENEHAKAR, RBEXNEGRILE.
DIN VDE 0105 or IGC 364 regulations, non qualified personnel shall not be engaged in electrical equipment work. Qualified personnel: refers to
the factory safety responsible person authorized personnel. According to their own training, experience, knowledge and ability related standards
on prevention of accidents to complete a necessary work, and to realize the potential The risk and take the necessary preventive measures.

It is necessary to life first aid knowledge, familiar with the life rescue equipment related.

2. MEREMRMBREHEHAETTELSMESTRERNIFARGSE, LETTELS—MARENRE, REREFFRBT R R XERIEFRRIBELEILER
ARERBENEHEENLERFE. AKELERF—T, URRKZFERBIFERSH, NEEXREFRL SREL~REEEENNIRS, KERL.
Came with the equipment operating instructions may not contain detailed information all of the factors related, in particular, can not
put every possible installation, are related to the operation and maintenance of way. The manual includes only can let the qualification Information
necessary for correct operation personnel of machines or equipment. Therefore, it is necessary to clarify, if lack of detailed parameters of

products, or related questions, please according to the type of equipment and processing code for this product, contact us

3. fE: BHLEADIN EN 60 034/DIN |EC 34-1 Fmf, HEZHF.
Tolerance standard: motor meets the standard of DIN EN 60 034/DIN IEC 34-1, insulation class F.



4. FREEEE, ERBERNZHRENER, RNETRELRENFHRXER, REFEESE, MILES, BETHERNAR. LERNERARER. JiE8
FHPEkH, NEBEFHFRETENMERILAINT.
in the selection of attention when, according to the specific circumstances ofthe scene, is focused on the flow or pressure and other
related factors, choose the most suitable, cost-effective, the energy is saved. The use of pressure release valve, filter when necessary And other

auxiliary parts, in order to better play the performance of equipment and matching field.

5. BRERBMEERTEEHELNR, BE, IFTERERE, SF/EEZSN, REREFFEER/MNZEN, ZERBFRPE/NETBHEREEE
WEFERE, NFR. B3 BARSHEER
Start up and ready to check the fastener without loosening, shed off 5 before the start, shell not deformation dislocation, intact / wiring, power supply
voltage, meet the requirement /shell grounding, installation of leakage protector/check the shift motors Ensure normal operation should be

smooth, vibration, noise, temperature rise were normal

6. SEREEFHIED, NEUMREREFLK, <M, R&INK, BESEASKIEMERETRE, GIRsHREEREER
pump during operation, such as noise, vibration, increase the abnormal increase of screaming, abnormal temperature rise should be cut off the

power supply immediately checked, troubleshooting to be re energized.

MRS REREREENRATETEERRY!

No air pump in a connection pipeline of start power!

FERES ORAWEERE, LIURARERE!

No inlet using hard links, must use soft connection!



TG

e TAIQI SEIKO ¢

2PB2 /1AC (&, WP SHAZERBSKEESHR (IP55 50/60HZ)
2PB2 /1AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

Lt ikBiEs R A HisE Wi - B
5 (2PB) W T E ThE HLE B HRHE HEESN E4EE S
Model single | frequency | power voltage current | Max airflow | rated Vacuum | rated compress | noises | Weight
double HZ KW v A m3/h mbar ' mbar dB (A) Kg
210 ALl o 50 0.4 220-240V i 80 -120 130 53 10
60 0.5 220-240V 302 98 -150 160 H6
— o 50 0.7 220-240V 4.5 88 -210 240 15%5) 16
60 0.83 220-240V 5.6 103 -250 250 61
40 AT # 50 0.4 220-240V 2T 100 -110 110 H4 1
60 0.5 220-240V 3.0 120 -130 140 BT
i A 2 50 0. 55 220-240V S 7 95 -120 130 57 13
60 0.62 220-240V 4.9 110 -120 130 60
S5 i o 50 0.7 220-240V 4.8 100 —150 150 1) 14
60 0.8 220-240V 4.1 120 —-150 160 Y
50 1.3 220-240V T 120 —240 280 58
320 A3l - 60 1.5 220-240V 803 145 =230 260 60 17
; 50 0 F 220-240V 4.8 145 -100 100 H6
330 A1l B 14
60 0.8 220-240V 4.1 165 -110 100 H8
- ¥ 50 Q. 7 220-240V 4.5 145 -120 120 63 15
60 0.83 220-240V 5.6 175 -130 130 64
) 50 0. 85 220-240V 5 145 -160 160 63
410 A11 B 16
60 0.95 220-240V 5.8 175 -160 160 64
N 50 1.3 220-240V T 145 =170 200 63
410 A21 =] 17
60 1. 5 220-240V 7.8 175 -210 220 64
20 A2l 5 50 1.3 220-240V 7.5 150 =255 255 66 95
60 1.5 220-240V 8 180 -290 280 69




IS =g N =
BIFHERME (L) ARAF
68 6 kK F & X #
2PB2 /1AC (%, NP SHNBRBSEMAESH R (IP5S 50/60H2)
2PB2 /1AC (Single, double impeller ) Gas ring vacuum pump models and the performance parameters table (P85 50/&60HZ)
B LiEesR A #oe BE - 55
& = (2PB) gk M Th¥E HUE R IR R H¥ES EHEES
Hodel single | frequency | power voltage current | Max airflow | rated Vacuum | rated compress noises Feight
double HZ KW v A m3/h mbar mbar dB(A) Kg
50 1.5 220-240V 9 150 —260 260 66
4 28
20 el % 60 1.75 220-240V 9.6 180 -300 290 69
50 2 2 220-240V 10 150 =265 265 66
31
e dal B 60 2. Hb 220-240V 11 180 =310 300 69
50 0.85 220-240V 5.2 180 -100 110 64
o 3 60 0.95 220-240V 5.8 210 -100 110 66 &
50 1.3 220-240V "] 180 -150 140 64
430 a2l & 60 1.5 220-240V 8.3 210 -140 130 66 7
50 0.85 220-240V 5 210 -160 160 64
e e = 60 0.95 220-240V 5.8 255 -145b 140 70 20
50 13 220-240V 7.3 210 -170 170 64
610 il = 60 1.5 220-240V [hitd] 255 =150 140 70 =
50 1.5 220-240V 9 210 =200 190 64
Al Al 2 60 178 220-240V 9.5 255 =220 210 70 24
50 2 2 220-240V 10 210 —220 210 64
26
s = 60 2. bb 220-240V 11 255 -240 230 70
50 1.5 220-240V 10. 4 270 =150 140 65
26
i el 5 60 1.75 220-240V 11. 2 330 =120 110 71
50 22 220-240V 10 270 230 250 64
it = 60 2. 5b 220-240V 11 315 -250 270 70 o
710 ALl & 50 - 220-240V 12.8 318 -190 190 2 5
60 “. Bb 220-240V 12. 8 376 -190 200 74




TG

* TAIQI SEIKO »

2PB2 REESRERHEEZ 1AC /Vacuum compression type curve
W

Vacuum Selection diagram 50 Hz—EFFiEFEIEFE 50 Hz Compressor Selection Diagram 50 Hz—E451%%I BT 50 Hz
350
.- LR =
, LBt
© 250 S b5l | 250
= 200 1 -1 ZL——“).; 0 r;p ‘{-L.Q- T~ Ty 200
§_ 150 E b LT L1 1 SeB32 H"'é‘-aﬁ ~_| ~~1 Y15 2|2
o ?’ (P/___,"/OA B5 |1 /ﬁg A 2PR3 2 -Q___ “‘""'"i--..,___ -""'--.__‘.\ 100
= 100 1/% T3¢ /'ﬁf// ETEH ap L ~| SUE |13 2]z
= 50 11 ilsgtToksl o1 ZE—B”‘Z" = rSRB2l e L .8 50
2 22 op=1 Q07| | ogtal 1| 4 _____________0?4 'é's‘--(],ﬂ- u
0 i ] 0
300 250 200 150 100 50 0 50 100 150 200 250 300 mbar
‘Vacuum (RZE/RE) Total pressure differenceA p/Z/E £ZAp Vacuum (/=45 /JE /&)

L 8 LibI
350 2T 302 ’.l.gL
*® 300 BRI ISEBS R 300
< i - W S~
L4 = 1] 1 0 E’P -““"""--- T~
¥ 250 > 2PBe =201 i 250
= 200 T A0 | L 2PR gl 1179 | 200
2 o7t 2PB7 i i == ~<{Z 5
2 e | s T 1 bpa2n e ﬁES-ELO el | 0_| ol 1915 ] 253
2 100 e o oy S ol T 100
: 2955 (LT T2eP T loleds
a 50 o0aT Lor62—1— = 50
: RS el ;
300 250 200 150 100 50 0 50 100 150 200 250 300 mbar
Vacuum (A2 / i /&) Total pressure differenceAp/E/E£Ap Vacuum (/£ 45 / £ /%)

= g



2PB2 REE4EBIghZE 1AC /Vacuum compression type curve

P e et

Vacuum Selection diagram 50 Hz—RZFEXIER 50 Hz Compressor Selection Diagram 50 Hz—H45XRIEE 50 Hz
I 250 ‘ 220
m'/h [ m’/h

’E' 200 l 200

? 150 prBAZ0 [ SPh | 1t

100 + L opeAlb ) T XPR T | 100

: HS=— 2P = —~—2F 1

'_=', 50 1.5 o o T —’_::ﬂh )__(> - __2;‘:?7;’_." o |_— ﬁ@z"'o :'EFE':}G-_..________‘ ‘H%%H"_“‘—- | "—""'—---_.._._I_ 3 50

g ' & - SN 1 V7 dix '

ER 173 i 0T B CL TP ] | o
300 250 200 150 100 50 0 50 100 150 200 250 300 mbar
- Vacuum (AL %/ i /=) Total pressure differencel p/ /R £Ap Vacuum (/=55 / \E/E)

——————

Vacuum Selection diagram 60 Hz—HFEEEE 60 Hz

250 250
| & 500
% 2PBAS (S 5=20 |
£ 150 L Lt T e [ T (R L 150
1 b5 L L ettt PR T PR M T~ 0| LT T Tt 1.[75
2 100 = ] e —=— L T 2PB3 50 IS O 100
3 13| | L4+ HpB284- £PB230 T of o a1 1.l
¢ 50 T g =T - | [ TT=ols = 50
g " 05
b 0 T 0?5 0

300 2350 200 150 100 50 0 50 100 150 200 250 300 mbar
Vacuum (£ %/ i /%) Total pressure differenceA p/ & /E%Ap Vacuum (/=43 /JEJE)

=i -




TG

* TAIQI SEIKO »

2PB2 /3AC (3, NP EHREZFHSRIM4EESHE (IP55 50/60HZ)

2PB2 / 3AC (Single, double impeller } Gas ring vacuum pump models and the performance parameters table (1P55 50/60HZ)

B kB BX WiE WiE
iV =S e HE
(2PB2 3AC) pyEe ] A ThE HE Bk Hi5E HRH & HEEA E45 71
Model single | frequency | power voltage current Max airflow | ratedVacuum | rated compress noises Weight
cae
double HZ KW v A m3/h mbar mbar dB(4) Kg
. 50 0.4 200-240 A 345-415Y 2. 6A /198Y 80 -120 130 53 10
2PB 210 H16 B
60 Qib 220-275 A 380-480Y 2.6 A/1.5Y 98 -150 160 H6
. a0 0.4 200-240 A 345-415Y 2.6A /. 5t 105 -120 130 54 11
2PB 230 H16 ==
60 Qb 220-275 A 380-480Y 2.6A/1.5Y 120 -150 160 57
50 0.7 200-240 A 345-415Y 3.8A /2.2 105 -120 140 H4 1
2PB 230 H26 | =
60 0. 83 220-275 A 380-480Y 3.8A /2.2 120 -160 180 57
a0 0.7 200-240 A 345-415Y 3. BA/Z N 85 -210 240 515) 15
2PB 220 H26 Py
60 0.83 220275 A 380-480Y 3.7Th A /2. 15Y 102 -250 250 61




2PB2 N2 EZRiEBIphER 3AC / Vacuum compression type curve

Vacuum Selection diagram 50 Hz—RFEZEFE 50 Hz Compressor Selection Diagram 50 Hz— 4K EFE 50 He
120 120
w/h ollo m'/h
3 100 ¢7 R, B 100
< 80 g N 80
g 60 MBS NN ED 60
2 ez | LY ST0~J0]25 [——
§ 40 s /C 25( . 25/ \\\ — o e
o —— -
s .25, o I3J0. 4F0. 7 bl
5 20 %7 D. 420, 70 Y =, ~00. 7 20
: 0 ' | 0
“ 300mbar 240 180 120 60 0 60 120 180 240 300 mbar
Vacuum (& 2/ i /&) Total pressure differenced p/ % /E %A p Vacuum (/% 45 / iE /&)
= =
Vacuum Selection diagram 60 He——R ST REIEFE 60 Hz Compressor Selection Diagram 60 Hz—E45TEER 60 He
150 150
m’/h m’/h
i 120 hoA (<o) 120
. ?J?‘.a'zi—- -~-%30
£ 9 i S 50
= 020 50? B T420)
; 60 G — Lo |~ [~ \ “"--_________--. 0 83 60
= B225- |1~ : ;
S 30 - P s 0.5 =120 29 0\.5(2??\\‘\\_*‘0. 5 i 30
8 D. % &’g,‘é 0. f\uo. a3
: 0 p- 0
o 300 mbar 240 180 120 60 0 60 120 180 240 300 mbar
Vacuum (A &/ i /£) Total pressure differenced p/ % /E£Ap Vacuum (/& 48 / iE /&)

-~



s TAIQI SEIKO o

2PB2 %ﬁ&%ﬁﬂ' / Single stage mounting dimensions

210/230

A
| VVi G Yx VAT &
; 1T ) N . /o8 /I*\\
Vv Vi vY [ Vvl r . -~ ™ .
1 -
I _L o /
RN i e A= B /N &
P 1‘ Q e
N | ‘. I_ - >|< L J -
e \{u & i @ U £ - S =] .
< N/ [\ e R - - - 120
- N K M—- ~—N K M=
D F
e F

V(=) V' (1~=)|¥1(B=)N1" ¢

2PB 210-HO06 |3~ | 246|247 90 [205(230(219| 92 |128(101 |83 |108| 75 |71| 39| G1,,, |64 10| 3 [M6x17 M25x1. 5|M16x1. 5| M6x15 | 0° /120° /240° | 140
2PB 210-H16 |3~ | 246|247 90 [205(230(256|135|128(111 (83 |108| 75 |71| 39 | G1,,4 |64 | 10| 3 [M6x19 M25x1. 5|M16x1. 5| M6x15 | 0°/120° /240° | 140
2PB 230-HO06 |3~ | 246 (247| 90 | 205(230|242|102(128(101 |83 |108| 75 |82 39 | G1,,, |64 | 10| 3 |M6x21 M25x1. 5|M16x1. 5| M6x15 | 0° /120° /240° | 140,
2PB 230-H16 |3~ |246|247| 90 | 205|230|267|135(/128|111 (83 |108| 75 |82| 39 | G1,,4 |64 | 10| 3 |M6x22 M25x1. 5|M16x1. 5| M6x15 | 0° /120° /240° 140
2PB 230-H26 |3~ | 246|247 90 [205(230(267|135|128(111 (83 |108| 75 |82| 39 | G1,,, |64 | 10| 3 [M6x23 M25x1. 5|M16x1. 5| M6x15|0°/120° /240° | 140
2PB 210—-Al11 |1~ |246|247| 90 |205|230|256|135|128|111 (83 |108| 75 |71| 39 | G1,;4 |64 | 10| 3 |M6x20|M16x1. 5[M25x1. 5 M6x15 | 0° /120° /240° | 140
2PB 230-Al11 |1~ |246(247| 90 | 205 (230|267 135128111 |83 |108| 75 |82| 39 | G1,,, [64]10| 3 |M6x25|M16x1. 5|M25x1. 5 M6x15 | 0° /120° /240° | 140




2PB2 ﬂﬁﬁ%ﬂﬂ' / Two stage mounting dimensions

220

() ——
% Z, 32 G
\ vl vy .
. % of vz | %
/
L \ /
lotq I g
5 o //\ [ ]:. \L - e ]
e " (1 ” i
R i(h N\ | " S
T< Gﬁ/ o\ 2 ik o
e [\ NS 2 '
N S e //
>|< L—T—“ - \\“\ T_ i
= L | T
L]
Pl N K M
3 F
D

2pp 22015 |3~ | 264 | 316 | 270 | ¢5 | 205 [ 230 | 316 [ 135 | 128 [ 108 | 111 | 83 108 | 75 {130 39 [g1.. | 6¢ | 10 |25 ] 88 [mearr| | 7| wesers | miext.s ot | 140 |ments| st simt ot




TG

* TAIQI SEIKO »

2PB3/3AC (¥, NP SHAREFHSRIERESHR (IP55 50/60HZ)

2PB3 /3AC {Single, double impeller ) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

—_— B XS ZX e i E _— a8
O 5 MK B B b4 PEEk i B Hw R BESEh E4ES
= single | frequency | power voltage current Max airflow | rated Vacuum | rated compress | noises | Weight
ode

double HZ K¥ v A m3/h mbar mbar dB(4) Kg
h0 0.b5 200-240 A 345-415Y 2.84 /1.6Y 100 -110 120 55

2PB 310 HO6 i< 11
60 0.63 220-275 A 380-480Y 3.0A /1. 7Y 120 -110 120 ot
50 0.7 200-240 A 345-415Y 3.8A/2.2Y 100 -150 150 hh

2PB 310 H16 =21 12
60 0.83 220-275 A 380-480Y 3.8A/2.2Y 120 -150 140 h7
50 0. 55 200-240 A 345-415Y 2.8A/1.6Y 140 -60 60 h6

2PB 330 HO6 B 12
60 0.63 220-275 A 380-480Y 3.0A /1. 7Y 165 -50 50 58
50 0.7 200-240 A 345-415Y 3.8A/2.2Y 140 -100 100 56

2PB 330 Hi16 =2 13
60 0.83 220-275 A 380-480Y 3. 8A /0¥ 165 -115 100 58
50 0.85 200-240 A 345-415Y 4.2A /2. 4Y 110 -200 230 58

2PB 320 H26 e 17
60 0.95 220-275 A 380-480Y 4.0A/2.3Y 130 -240 240 60
50 1.3 200-240 A 345-415Y B.TA/3.3Y 110 -280 290 58

2PB 320 H36 Eye 18
60 1.5 220-275 A 380-480Y 6.0A /3.5Y 130 -300 400 60




2PB3 RE3ESRi%kBIghE: 3AC / Vacuum compression type curve

Vacuum Selection diagram 50 Hz—EZZiERIER 50 Hz

Compressor Selection Diagram 50 Hz— R4 EF 50 Hz

o : 5
m’ '39/ pg oy
120 B 83sh, 120
0. 53 "] . 55| op
. ‘ﬁa,zg”,f 4-\—6 T‘: <2p [ 90
D. & D. 53 0.8
[
o g ) Py \D\; > i
. T'/?’ 0-7 A 0
|
300 mbar 180 120 60 0 60 120 240 300 mbar

Vacuum (A% / 5 /&)

Total pressure differenced p/ % /= £Ap

Vacuum Selection diagram 60 Hz—RF %A EFE 60 Hz

Vacuum (/& %5 / £ /%)

180 180
] m'/h ’bc ui’/h
w190 qu'” 13.:0 " 150
2 120 0/83 - p3 120
¥ "L Toh, Nafedia
2 420 At
5 90 e O o 5 0
2 ofos| 4T o &s V7 X 0 95—~
S 60 =2 oA = 60
5 18— olsad”” 1R i
= 30 : 30
& 0 0

500 mbar 300 200 100 0 100 200 500 mbar

Vacuum (& %/ i /E}

Total pressure differenced p/ i /& £Ap

Vacuum (/=35 { £ [£)




s TAIQI SEIKO o

2PB3 ﬁﬁﬁ%ﬁﬂ' / Single stage mounting dimensions

310/330

A
I VV1 Lo Yx - e
. ' R 1 V'V /b/
b VY «
vV V1 V1 a /7 - 2.
I =3 =
I\ =
- G G A ul - AR AT o
' >
P Q ™
\/x i 4 L -— S >|< L L/ -
* ! @ D, = <
o SV ®R - l i — | ! 120°
i I/ : ; ' —
j : .
N M—= =—N K M-
D F
E F
= D 2 B D 0 P Q R o
2PB 310-HO06 |3~ |268|272| 93 |205| 2 |260| 92 |141|101|83|108| 82 |69 41 | G1,,4 |64 | 10| 3 [MEx17 M25x1. 5|M16x1. 5| M6x15 | 0° /120° /240° | 160
2PB 310-H16|3~ |268|272| 93 [205| 2 |260| 92 |141|101|83|108| 82 |69 41 | G1,,, |64 | 10| 3 [MEx1T M6x15 | 0° /120° /240° | 160
2PB 330-HO06 |3~ |268|272| 93 [205| 2 |276| 92 |141|101|83 |108| 82 |85| 41 | G1,,. |64 | 10| 3 [MEx17T M25x1. 5|M16x1. 5| M6x15 | 0° /120° /240° | 160
2PB 330-H16|3~ |268|272| 93 [205| 2 |276| 92 |141|101|83|108| 82 |85| 41 | G1,,, |64 | 10| 3 [MEx17 M25x1. 5 [M16x1. 5| M6x15 | 0° /120° /240° | 160
2PB 310-A01 |1~ |268|272| 93 |205| 2 |260| 92 [141|101(83 [108| 82 |69| 41 | G1,.. | 64| 10| 3 |MEx17|M25x1. 5[M16%1. 5 M6x15 | 0°/120° /240° | 160
2PB 310-Al11|1~ |268|272| 93 |205| 2 |260| 92 |141|101|83|108| 82 |69 41 | G1.,4 [64 | 10| 3 [MEx17[M25x1. 5|M16x1. 5 M6x15 | 0°/120° /240° [ 160
2PB 330-All|1~ |268|272] 93 |205| 2 |276] 92 |141]101|83|108| 82 |85| 41| G1,,,[64]10] 3 [MEx17[M25x1. 5|M16x1. 5 M6x15 | 0° /120° /240° | 160




2PB3 X 2 &% Rt / Two stage mounting dimensions

320

.
VV1

N [ g \‘.
= [, TS J ’ S !
@ | .
"I ,\) \\ (gf}
> \__‘) ™
N (2 /
[ \ /
< Al
> 5 JL.
I
N K
F
N
L/
E
9FB 320-H36 |3 32 [ 138 64| 10 92 |u6x17 16x1.5[27° |160 51° /171° /201°
JPR 320-431 |1 82138 64110 92 |Mex17 M25x1. 5 | — o7 180 B1° /171° /291°




TG

s TAIQI SEIKO o

2PB4 /3AC (8, W) SHESBRESKMEESHR (1P55 50/60HZ)

2PB4/ 3AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

2% LiESH BX B BiE - -
H
B pLEr s Bz ThE e LR e A HRRE | REES | B4ES
(2PB4 3AC) ) ; rated rated ) ]
Model single frequency | power voltage current Max airflow noises | Weight
Vacuum COmpress
double HZ KW '} A m3/h mbar mbar dB{A) Kg
50 0.7 200-240 & 345-415Y 3.8A/2.2Y 145 -120 120 63
2PB 410 HO6 <A 15
60 0.83 3220-275 A 380-480Y | 3.75A/2.15Y 175 -140 140 64
20 0.85 200-240 A 345-415Y 4.0A/2.3Y 145 -160 160 63
2PB 410 H16 B 17
60 0.95 220-275 A 380-480Y | 3.85A/2.25Y 175 -160 160 64
50 1.3 200-240 A 345-415Y hE A /31 3Y: 145 -170 200 63
2PB 410 H26 L=< 18
60 1.5 220-275 A 380-480Y 6.0A /3. 5Y 175 -210 220 64
20 0.7 200-240 A 345-415Y 3.84/2.2Y 180 -70 70 64
2PB 430 HO6 <A 14
60 0.83 220-275 A 380-480Y 3.8A/2.2Y 210 -50 20 65
50 0.85 200-240 A 345-415Y 4.2A/2.4Y 180 -110 100 64
2PB 430 H16 B 17
60 0.95 220-275 A 380-480Y 4.0A/2.3Y 210 -90 70 65
50 1.3 200-240 A 345-415Y 6.6 A /3. 8Y 180 -180 180 64
2PB 430 H26 =<8 18
60 1.5 220-275 A 380-480Y 6.9A /4. 0Y 210 -180 170 65
20 0.70 200-240 A 345-415Y 24 4/1. 4Y 140 -120 120 63
2PB 490 H16 B 14
60 0.83 220-275 A 380-480Y 2.7TA/1.6Y 175 -140 140 64
50 1.6 200-240 4 345-415Y 7.5 A/4.3Y 150 -280 280 66
2PB 420 H36 X 25
60 2.05 220-275A 380-480Y 7.6A/4.4Y 180 -320 310 69
a0 2.2 200-240 A 345-415Y 9.7TA /5. 6Y 150 -330 420 66
2PB 420 H46 X 27
60 2.59 220-275 A 380-480Y 10 A /5. 8Y 180 —350 440 69




2PB4 m=ESR%kBIghEE 3AC / Vacuum compression type curve

Vacuum Selection diagram 50 Hz—HZ R EFE 50 Hz Compresscr Selection Diagram 50 Hz— R4 EE 50 Hz
200 2(}9
ol ﬂ.h':.}q gqua 5

. 160 WL ol 160

2 0. =T N B o e

y = B %Q&q,\“ 85 <0842, 120

3 0| 0 8 "r?/f".:,ﬁ"?’ T L | B ~——

: 80 298 7 = S =~ 80

3 40 4 1- L~ /(b_/][r’/ 3 ™ L\B(B\J 3 : ‘--..____\

22 1+ il ‘ o7 0|7 ~ 40

3 v 1|3P-8° 3

i 0 T ST/}P T : V2.l 5
400 300 200 100 0 100 200 300 400 500 mbar

Vacuum (%% / i /£) Total pressure difference\ p/Z. /& EAp Vacuum (/£ 42/ EJE)

250 250
! %:) Wbﬁ %l(l)
o T 7 P
2 of spo | "R 83" |
¥ 150 A,zof’,;fl-q;fa‘?‘j BN ?,' S =—12Re4 150
3 P P Al q%\Q@.EENm?QLM 2,105
= 100 /,10’7: 165 Ul §e (o3 b 95 o | 100
« 2|55 _osTod | |1 d. 959 1¢0. b3 ™ o BT ——~—-J2./55
g 50 P 15 50
= 5 (

500 400 300 200 100 0 100 200 300 400 500
Vacuum (#1%2/ i /&) Total pressure differenceA p/EJ/E EAp Vacuum (/R %5/ E &)

- s o



s TAIQI SEIKO o

2PB4 ﬁﬁﬁﬁﬁﬂ'lsmgle stage mounting dimensions

410/430/490

A

ZFB 410-HO6 [3~286[302|115|225|255]|269|135|154(111| 95 |130| 70 | 75|46 |Gl,,| 72|12 | 3 |M6x19 M25x1. 5| M16x1. 5 |[M6x15[0° /120° /240" [174
ZFB 410-H16 [3~286[302[115|225|255]|292|160|154|120( 95 [130| 70 |75 |46 |Gl - [ T2 [12| 3 |[N6x19 M25x1. 5| M16x1. 5 [M6x15(0° /120° /240 [174
2FB 410-H26 |3286|302|115(225|255|282[160]|154]|120| 95 [130| 7O | 75 |46 |GLl,- | T2 [12 ] 3 |M6x19 M25x1. 5| M16x1. 5 [M6x15/0° /120° /240° |174
ZFB 430-HO6 [3~286(302|115|225|255)|288|135|154(111| 95 |130| 70|75 |46 |Gl |72 |12 | 3 |M6x19 M25x1. 5| M16x1. 5 |[M6x15/0° /120° /240" [174
ZFB 430-H16 |3~286|302]|115(225|255|311[160])154|120( 95 [130| 70 |75 |46 |Gl,- | T2 |12 ] 3 |MBx1H M25x1. 5| M16x1. 5 |[M6x15]0° /120° /240 [174
2FB 430-H26 |3~286|302|115(225|255|311[160]|154|120[ 95 [130| 7O |75 |46 |Gl,-|T2[12] 3 |M6x19 M25x1. 5| M16x1. 5 [M6x15/0° /120° /240° |174
2FB 490-H16 [3~286[302|115|225|255]|311|160]|154(120[ 95 [130| 70 |75 |46 |Gl,,[T2 |12 | 3 |M6x19 M25x1. 5| M16x1. 5 [M6x15(0° /120° /240" [174
2FB 410-Al11 |1~286|302|115|225|255|294|160|154|120| 95 [130| 70 | 75 (46 |Gl,, |72 |12 | 3 |NM6x19|Ml6xl.5|M25x1.5 MEx15|0° /1207 /240" [17¢
Z2FE 410-A21 |1~286|302|115|225|255]|294|160|154]|120| 95 [130| 70 | 75 (46 |G1,- | T2 [12| 3 |M6x19|Ml6xl.5|M25x1.5 / M6x15|0° /1207 /2407 [174
2FB 430-411 |[1~286(302|115|225|255|311|160|154(120| 95 |130| 70 |75 |46 |Gl, |72 |12 | 3 |M6x19[Nléxl.5[M25x1.5 M6x15[0° /1207 /2407 [174
ZPB 430-421 |1~286|302]|115|225|255]|311{160|154]|120] 95 [130| 70 | 75 (46 |G1,- |72 [12 | 3 |M6x19|Ml6xl.5|M25x1.5 M6x15[0° /1207 /2407 |174




2PB4 ﬂﬁﬁﬁﬁff / Two stage mounting dimensions

420
N & )
& R, N G_,-
//’-'_ I _“-_-"“\ \ | l'\"’.‘/\'] oV 1’ e
= =" '|:'\*\-‘- ‘ & & YxZ i 6.
\ TVIVIR _ | — o I ) /\
FANE s U'Aﬁu’/\ ./ 4 - e i
b : /J_ ________ L = L * l _ﬂ\ﬁt" s I
B " & 5
O ‘| lﬁ%_} o \ <\.-— e -
5 '.\‘\Ll/l_l I. / .(‘/’ \\ (\\
. & 7 Z e
i | N/ Ao //
! L o o N & /
S 3! L & B _L T
™ AN Sl N
N K Y
F
2PB 420-H36 |3~ |322)324|315|58|225|255(401(191|154|153(128|95|130| T3 [151| 45 |GL,.| 72| 12| 3 [104|N6x19 N25x1.5|M16x1. 5 [28° |174|M6x15/51° /171° /291°
2PB 420-H46 |3~ |322|324|315|58|225|255|401|191|154|153|1258|95 [130| 73 | 151 | 45 |G1,,| 72| 12| 3 |104|N6x19 M25x1.5 [M16x1.5(28° |174|M6x15[51° /171° /291°
2PB 420-431 [1~~ |322[324|315]58)225|255|401]191)154|153(128]95[130] T3 |11 | 45 [G1,-| 72(12[ 3 |104|M6x19|N16x1.5|N25x1. 5 / /28° 174 |N6x15[51° /171° /291°




TG

s TAIQI SEIKO o

/ (8, WE) SHEASRESEMHEESHER (IP55 50/60HZ)

2PB5 /3AC  (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

; g LB BK e e ws | g

- ?Ag wg | sk | mE Hiz bR PEmE | HREE | ASEH 4
Model single | frequency | power voltage current Max airflow | rated Vacuum | rated compress | noises | Weight
double HZ KW Vv A m3/h mbar mbar dB{A) Kg
PBSIOMG | ® | oe o orea | o amor | o oazs | s | 0| »
WBSWES | |55 T rsa Twoamv| 6 oA e or| 9 |10 e
bl W o 00 2 A2 2 e
WSO | M |8 o amor 105876 07|55 0|0 »
B S0 6 | g To g [0 asoaeouro0v | za/zar | 30|40 o
B S0 S | % o i a Tesomor o /eor | s —w w0 ] ®
S0 ws | M |85 oo ymoa feon a0r |7 /i A | a0 e —|iw 7|
b WG w7 O O o
B 0B | % 50— Fo-on [omo-ions [omo-raov| 4z /54 | s | im0 | et ni] ¥
WS | W e o vrea Lo mor[a0. 76 ov| s s m0 ] ©
il IR W T X7 e o
b IR o Y 7 T 2 e R S 1




2PB5 REEEAR%EHRIgEE 3AC / Vacuum compression type curve

Vacuum Selection diagram 50 Hz——RFEREFR 50 Hz Compressor Celetion Diagram 50 Hz—E4EERIEFE 50 Hz
300 300
I m'/h 6,_; ! m'/h
250 7 0.185 250
- JL% el L | | 200
2l A IYEG 1. i85
= 150 20 /"@/ 5 ‘?"30\3:“* \“*x-..é_g__“ 150
B o nﬂ/@f;// 1 //“b./ss \\3-5 -\"“""m.ﬁ\_z,z -
S > 5p. B5 Mo ) ™
: f,€3// 212 | ) ,ﬁ, 3 olas™ § 3 \%\ \3“""‘"1 4
Z 90 g tg‘ 7P 22 50
A 0 |2 0
500 mbar 400 300 200 100 0 100 200 300 400 500 abar
-‘Vacuum(ﬁ‘-’f&';’ &) Total pressure differencer p/ 5 JE £Ap Vacuum (/& #/ £/%)

350 5 350
l m‘/h a quj@c %{‘ nlo m'/h
o 300 : -; \* AR 300
< 250 1} 8ol T Pl N5 250
S A ed 00 ) e
£ 200 b | Al 5.,\\3;,\)\0;975;}5___.2 =
B - r & Uy |
2 150 P plosy Y A TR L [T 150
= // :,. " ~& (] 5 3—-., ]
& 3. 4/5:.}; el | 9. 05 44 r:,5 P2 55 B ~4.16
100 y ~ 100
g 4 |8 LT | 41 0.195 ~ 2. 65
i * 2 \JW )
- 50 3 5 OF 50
tﬁ 0 &. q 0
500 mbar 400 300 200 100 0 100 200 300 400 500 mbar
Vacuum (2% / i /&) Total pressure difference p/ /R ZAp Vacuum (& %5/ i &)

- feom



s TAIQI SEIKO o

2PB5 $‘ﬁ§§ﬁﬂ'/ Single stage mounting dimensions

510/530/590

=
= Type

¥-Holes

S510-HOG |3~ |334|33T[120|260]295) 314 |160|1T5|1Z20)115|155({96 |87 |[45)55 |83 |14 4 |MEx1T M25x1. 5| M1Bx1. 5[M3x200° F120° f240° [200] 29
ZFE 510-HI6 [3~|334[33T|120|260(295]314 [160)175])120)115(155|96|87T |45 |55 (83 |14( 4 |MG=1T f"’"’f—f"’f M25x1.5|Mi6xl. 5| M3x200° /120° /240° [200) 29
ZFB 510-HZ6 [3~|334[33T|120|260(295]346 (191 J175]126]|115[155|96)187 |43 |55 |83 |14(4 MBxlT_ﬂ_’w‘"”- M25x1.5|Mi6xl. 5[ M3x200° /120° /240° (200) 29
2PB S510-H36 [3~|334[337[120|260]|295|346 [191|175]128]115({155(96]aT[48]55 | 83 [ 14| 4 [Mex17| " [ " IM25x1.5[M16x1.5|Max20j0° f120° /240° |200| 2d
2PB 530-HDB [3~|334[337[120|260|295|334 160175 120f115{155]96 a7 48] 55 |83 [14] 4 Maxa7|_— | _— [M25x1.5[M16x1.5|Max20j0° f120° /240° |200] 2
2PE 530-HI6 |3~ |334|337T|120|260({295(334 |[160J17T5]120)115|155|96 |87 |48)55 |83 )14 4 |MSx1T fﬂ—fﬂEle.S MiBxl. 5[MSx200° /120° /240° 1200| 29
ZPB S30-H26 |3~ |334|337|120|260(295[365 [191 |175] 1261151559687 45|55 (85 (14)4 hlﬁxl?__ff“'ﬁ- __,-~""FJ M25x1 . 5[Mi6x1. 5| M8x200° f120° /2407 |200) 29
2PE 530-H36 |3~ |334|337T|120|260[{295[365 [191 |175] 1261151559687 |45]55 (85 (144 MleT_,.,a—f"’f M25x1.5[Mi6x1. 5| M8x200° f120° /2407 |200) 29
ZFB 590-H26 [3~|334(33T|120|260(295|365 [191)175]126]115]155|96|87T |45 |55 (83 | 14| 4 |M3x1T M25x1.5[/Mi6x1. 5| M3x200° f120° /240° |200) 29
2FB 510-Al1 [1~|334(337|120|260(295]314 [160)175)120]115(155|96)87 |45 55|83 |14[4 [M3x1T|M16xl.5| M25x1.5 _— [max20p® /120° /240° |200] 2d
2PE 510-AP1 [1~|334(337|120|260|295]345 (191 J175]126]|115[155|96 )87 |45 55|53 |14 4 [M3x1T|M16xl . 5| M25x1.5 __,,-f”"f— M3x200° f120° f240° [200] 29
ZFB 530-Al1 [1~|334[337|120|260|295]334 (1601750 120)115[155|96 )87 |45 55|83 |14 4 [M3x1T|M16x]l. 5| M25x1.5 f MBx200° F120° /240° |200| 24
ZFB 530-A21 [1~|334[337|120|260|295|365 (191 )175)128]|115[155|96)87 |45 55|83 |14 4 [M3x1T|M16x]l.5| M25x1.5 __,f"f MBx20P0° F120° /240° |200| 24
ZFB 590-A21 [1~)334[33T1120|260(295]365 (191 J1T5)125]115(155|96)8T145§55 |83 (144 M3x1T)|M16xl S| M25x1. 5 | MB:x20)0° F120° /240° |200| 29




G ERME (L) FRAH
8 6 Ik B £ & %
2PB5 XX?&&%RTJ’/ Two stage mounting dimensions
520
8 W [ =it
YxZ -

\\\\d_' ) \“IL l"".',‘-.'q ’-“E(/

A9 N \ YxZ TN
i of i) s
> e | S | | ¥
5 < | T L e v X by

O s

.

#E Type #Ef-izl A ‘a' ‘ B ‘ C ‘ D ‘ E ’ F ’ N ‘u‘:ﬁ? Q ‘.ﬂ;‘
2PB 520-H46 |3~ |[372|411|371| 60 260 |295|465|190 (175|144 |135| 115|155 171(48|55 |83 | 14 | 4 | 116 [M8x17 | M32x1.5 [ M32x1.5 |M32x1.5 [M32x1.5 [200| MBx20 [S1.5° /171.5° /291.5° |42
2FB 520-W57 |3~ |372|411|371]| 60 260 |295|499|224 (175|144 |135| 115|155 171(48|55 |83 | 14 | 4 | 116 [M8x17 | M32x1.5 [ M32x1.5 | M32x1. 5 [M32x1.5 |200] MBx20 [51.5° F171.5° /291.5° |42




TG

* TAIQI SEIKO »

2PB6/3AC (8, WP SHEDFRHE RS KE (IP55 50/60HZ)

2PB6 /3AC

(Single, double impeller ) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

L2 Lxs¥ BRHUE e i wir | BB
(mf ?Ac) W mE | s ok v HRRE | HZEN | E4ES
Model single | frequency | power voltage current Max airflow | rated Vacuum | rated compress | noise | Weight

double HZ KW v A m3/h mbar mbar dB(A) Kg
. 50 1.6 200-240 A 345-415Y 8.5A/4.9Y 265 -170 180 67

2PB 610 H06 L] 24
60 2.056 220-275A 380-480Y 8.8A /5. hY 315 -180 190 70
. 50 2o 200-240 A 345-415Y 9.7A /5. 6Y 265 -235 220 67

2PB 610 H16 B 27
60 2. 55 220-275A 380-480Y 10. 3A /6. 0Y 315 —245 230 70
. 50 3 200-240 A 345-415Y 1205 40/7. AY 270 -280 280 69

2PB 610 H26 B 32
60 3.45 220-275A 380-480Y 12. A /% 3 315 -260 270 72
. 50 1.6 200-240 A 345-41bY 8.5A/4.9Y 345 -125 125 70

2PB 630 HO6 B 36
60 2.05 220-275A 380-480Y 8.8A/5. 1Y 415 -105 130 73
. 50 A2 200-240 A 345-415Y 9.7A /5. 6Y 345 -200 195 70

2PB 630 H16 B4 29
60 2. 55 220-275A 380-480Y 10. 3A /6. 0Y 415 -170 195 73
X 50 3 200-240 A 345-415Y 12. 5A /7. 2Y 345 -240 220 70

2PB 630 H26 1=} 35
60 3.45 220-275A 380-480Y 12.6 A /7. 3Y 415 -210 220 73




2PB6 REBEAERIgER 3AC / Vacuum compression type curve

Vacuum Selecticn diagram 50 Hze——H S ERIEE 50 Hz Compressor Selection Diagram 50 Hz——[E&FGHIEFE 50 Hz
400 400

I w'/h || 2 B L w'/h

e 530 -

# 300 R b T 300

- el 14T 3881 =P T~

B - =1 e P

2 200 Bras==mn RSN 200

z o lp | J2320FF TN 2

= 100 . é/ SO~ 100

e I . I3

3 3T/ ﬁ3 NT

a 0 0
300 mbar 250 200 150 100 50 0 50 100 150 200 250 300 mbar
‘Vacuum{.ﬁ- =i R) Total pressure differenced p/E/E£Ap Vacuum (/& 42/ £ /&)

Selection diagram 60 Hz—E ZEXIER 60 Hz

400 . 400
I mw'/h FE!E'-}_Q_"‘"-‘:—O-' - aaddi o'/h
* 300 P03+ 288P el ~ 300
o L __."“r = 2 = 2b - |05
¥ * :j,”:r-_.«-ﬂ-‘“”"" Hﬁgﬂ&\\h@a‘\\\
= 200 M0 3 - <5 200
E’:. 2. 5‘2/"' / --..__«;‘:";3‘).5§ i
< 3.8 3.k / P el
5 100 ] X &L 5 100
A 0 0

300 mbar 250 200 150 100 50 0 50 100 150 200 250 300 mbar
Vacuum (£ % / i /&) Total pressure differenced p/ &5 £Ap Vacuum (JE 47 / JEJE)

sl




s TAIQI SEIKO o

2PB6 %ﬁﬁﬁﬂd’ / Single stage mounting dimensions

610/630

A
| Y x& \/'-\j’\* W G
k) \5{\/ v e
I I . f S
sz YxZ- T >
— T T 2 Ay e \
M $X '1
] 7 '
= - L T <\/ >/
S~—120""

C =—N K M—

D F

E

H ’ Al ’ K ‘ IL, ’]‘u‘[‘ N ‘ 0 |§F Q ’.117?-1

ZFB B610-HO06 |3~ |360|366|122|284|325(354(191|192|128|140(180|84| 94 | 52 |55 | 83|14 (4.5 [MB=x17 M25x1. 5| M16x1. 5 |M8x20(|0° /120° /240° |226(29
ZFB 610-H16 |3~ |360|366(122|284|325(354|191|192(128|140|180|84| 94 | 52 |55 |83 |14 |4.5|MBx17 M25x1. 5[ M16x1. 5 (M8x20(0° /120° /240° |226|29
2PB 610-H26 |3~ |360|366|122|284|325|385/188(192|135(140|180|84| 94 | 52 |55 | 83|14 | 4.5 [MBx17|M32x1. 5|M32x1. 5{M32x1. 5| M32x1. 5 |[MBx20(0° f120° f240° |226 |42
ZPE B630-H06 |3~ |360|366|122|284(325(372|191|192|128|140(180|84| 94 | 52 |55 83|14 | 4.5 [M8x17 M25x1. 5 M16x1. 5 [M8x20(0° /120" /240° |226|29
2FPB 630-H16 |3~ |360|366|122|284(325(372|191|192|1258|140(180|84| 94 | 52 | 55 | 83|14 | 4. 5 [M8x17 M25x1. 5| M16x1l. 5 |M8x20|0° /1207 f240° 22629
2PB B30-H26 [3~|360|366|122|284|325|403|188(192|135(140(180|84| 94 (52 |55 (83|14 | 4.5 |MBx17|M32x1. 5|M32x1. 5|M32x1. 5| M32x1. 5 |M8x20(0° /120° /240° |226|42




BBMEILE RSN
WRKDER LR
i BBRAR K+
WNEME  BOUE
REFRNER SRR
R FHEET
—BFTFx
BEME—RB=,
LR EEENBEN



s TAIQI SEIKO o

2PB7/3AC (8. W) SHESRESRIEESHE (IP55 50/60HZ)

2PB7/3AC

{Single, double impeller) Gas ring vacuum pump models and the performance parameters table (1P55 50/60HZ)

g

LiE2R

BA

B

e

o5 wg | HE | T BEAE BEah FRE | AT FRGE ] | =

(2PB  3AC) single | frequency | power voltage clurrent Max airflow | rated Vacuum | rated compress | noises | Weight
double HZ Kw v A m3/h mbar mbar dB (4) Keg

e I SN ¥ TS -1 ) 5720 B 1 1% 15 o
I o 7 S v G 2., 1 210 i 7] *
T I SO W 7 . LY e = 310 ]
w T M1 | 8 et ta7e T 2 = ]
e I o % . ) ) ., 0 1 70 1% ]
Tl I o 7 1 1 e .4 ) % %0 ]
Tl I S o W 7 ) Y1 s ot oG 5] %
Rl IR S T 2 7S - A O ., 50 g0 o
T R S e~ 1) -, | 110 =0 e ™
el I S o 0 7 1 £,/ %0 50 ] ™
I I o 1 1 ) B LYY 50 1% 15 m—
P 70 W | B ST g s T |0 0 7 m—] ¥
70 w7 | B e s e T 0a/e oy 50 50 0 m—] ®
L T e o 1 ) 1., 100 o ]
I e e e o = e B I
el I e o 1) a1,/ om0 0 o
ey 70 ms | B e ssoar |3 earrar T an 210 %0 ] ¥




N L Tmastwesniype cilte
R

Suction Capucity o A 2wt

Vacuum Selecticn diagram 50 Hz— R T#HAEF 50 Hz Compressor Selection Diagram 50 Hze—E45iR EF® 50 Hz
600 231(1)
m'/h
500 moglc 500

P | Lab TN
400 T LT »«s%q 1Ny 400
300 A Eepprnd Bebtags | I e 300
b LB TPt | TR R N T e
200 30 AR = ~ k7 i 11 200
o T T L T Tk et TR TR EET
sTst .5 9-}{’ & 4“F‘5-..T4
0 0
500 =kar 400 300 200 100 0 100 200 300 400 500 600 mbar
Vacuum (A %5/ fi /) Total pressure differenced p/ & /E£Ap Vacuum (/553 .-'_-I—J’E.L

Suction Capacily ol A T e——

700 700
m'/h m'/h
600 g5 5 ‘:#E_g 600
o <Re 500
" P51 I | [k TS
400 el '?:;ETN e 400
300 2t SR ool | [P Sia | | 4 300
200 Ve 'Y % 34{5_112 gl fi M\mi‘_c R‘w‘,‘.\‘““')& e | [ TT T a1l gisl | 200
o_&)-f h.d 4 "‘;S 1 ’L - 3’ 1S \4‘0‘ ki
100 +P-° o l‘f- & 100
0 0
500mbar 400 300 200 100 0 100 200 300 400 500 600 700 obax
Vacuum (A / 1 JE) Total pressure differenced p/Z/E£Ap Vacuum (/£ %8/ EJ%)

il e



s TAIQI SEIKO o

2PB7 ﬁﬁﬁﬁﬂﬂ' / Single stage mounting dimensions

| YL YV =W G
— NG
| a7 _
I L S\ I:
.-/ — i //,— ‘\/J
| o~ 7 Y.
m — —— T — - avr \
\ ) P X '|
| 0 |
= - mi- o o, /
F Iﬁ .
5
i . o
C —N K M—=
D F
E
2PB T10-HO6 |53~ |382|384|125|290(325|377|1591|197(128(140|180|84[109| 54 [55[83|15|4.5 |M8x17 M25x1. 5[ M16x1. 5 [M10x20|0° /120° /240° [240[29
Z2FB T10-H16 |53~ |382|384|125|290(325|377|191]|197(128(140|180|84[109| 54 [55[83|15|4. 5 |M8x17 M10x20[{0° /120° /240° [240|29
2PB T10-H26 [3~~|382|384|125|290|325|409|188[197[135[140/180|84[109| 54 |55|83|15(4.5|MBx17|M32x1. 5|M32x1. 5[M32x1. 5|M32x1. 5 |[M10x20(0° /120° /240° |240|42
2PB T10-H37 [3~~|382[384/125|290(325(432|209(197|1458[140|180|84[109| 54 |55 [83[15[4. 5 [M8x17|M32x1. 5[M32x1. 5|M32x1. 5[ M32x1. 5 [M10x20|0° /120° /240° |240[42
2PB T30-HO6 |3~ ([3B2[384|125|290(325|387|191[197(128|140|180(84(1093[54 [55|83|15|4. 5 |MB8x17[M25x1. 5|M16x1.5 M10x20[0° /120° /240° |240|29
2PE 730-H16 [3~~|3B82[384[125(290(325|387|191)|197|128|140{180|84)|109| 54 |55|83|15[4.5 |MBx17|M25x1. 5[M16x1.5 M10x20[{0° /120° /240° [240)|29
2PB T30-H26 |3~|382|384[125|290(325[419|189|197|135|140/180|84|109| 54 | 55|83 |15|4. 5 |M8x17|M32x1. 5|M32x1. 5|M32x1. 5| M32x1. 5 [M10x20[0° /120° /240° [240]42
2PE 730-H37 [3~~|382[384|125|250(325(440|209(197|148[140|180]|84 [109| 54 |55 [83[15[4. 5 [M8x17|M32x1. 5[M32x1. 5|M32x1. 5[ M32x1. 5 [M10x20|0° /120° /240° |240[42
2FE T90-H26 |3~ |3B82[384[125(290(325|377|185|197|128|140{180|84)|109| 54 |55|83|15[4.5 [MBx17 M25x1. 5 M16x1. 5 [M10x20/0° /120° /2407 [240]29




2PB7 X 2% 2% R~t / Two stage mounting dimensions

720

w —
Y xZ
= VV'\
- 4 e ~55

e o = \ g l- ¥ .

¥y g h / \

:;-: k.. £ /s Sf’ \

o (;‘-‘? -~ {r\d- //’“ \

s Wl ] ) = A 1

] A, \ /'g‘k I
e Ls“’Ex | & \ &5
s e . SR ¢ §
T_._ \\"\___$ L/}/
N K—=l -
i

2PE TZ0-H16 [3~ |[426|426(410( 63 |290(325|473|191|197|162(128|140(180| 84 [205(53( 55|83 |15 |4.5|130|M8x17|M25x1. 5|M16x1.5 240|M10x20|51.5° /171.5° /291.5° | 29
2PE T20-H26 [3~ |426(426|410| 63 |290|325(496(188[197(162|135|140|180| 84 |205(53| 55|83 [ 15 (4.5/130 MBxl?lHSle. 5|M32x1. 5|M32x1. 5|M32x1. 5| 240 |M10x20|51.5° /171.5° /291.5° |42
2PB 720-H37 [3~ [426[426[410( 63 |290|325]526|209|197|162|148]140|180] 84 |205|53| 55 | 83 | 15 | 4. 5] 130 [HEx17|M32x1. B[M32x1. S[M32x1. 5[H32x1. 5] 240 |M10x2051. 5° /171.5° /291.5° |42
2PB 720-H47 [3~ [426|426|410(154|290|325(571|226/197|162|167|140(180|200/205|53| 55| 83 | 15 [4. 5|130 [M8x17|M32x1. 5[N32x1. 5|M32x1. 5|M32x1. 5| 240 |M10x20[51.5° /171.5° /291.5° |42
2PE T20-HGT |3~ |426|426|410(154|290(325|571|226(197|162|167|140|180/200|205|53| 55 | 83 | 15 |4.5|130 [M8x17|H32x1. 5|N32x1. 5|H32x1. 5|N32x1. 5 240 |W10x20|51. 5° /171.5° /291.5° |42




s TAIQI SEIKO o

2PB7 ﬂﬁﬁ%ﬁd’ / Two stage mounting dimensions

740

| A
° Of s
o 4
( (0@ Y ¥ L 2
M_? r 4\/ /h
A — Y xiZ N
L . VAR
- AV "4 AT AN X
=<
i
P — —I=
] S L — 120
N K—+M
...—M—..
2FB T40-H3T7 |3~ [420 | 465|125 290 | 325 | 526 [ 209|197 | 148|140 | 180 | 84 | 205 (112 55 | 83 | 15 |64. 5|MEx1T (4 x M32x1.5(240 | M10x20|0° /120° /240°
2PE T40-H47 |3~ | 420 | 469 308 (290 | 325|571 (226|257 | 167 (140|180 | 200 | 205|153 | 55 | 83 | 15 |A4. 5(N8x1T7|4 x M32xl.5|240|M10x20(0° /120° /2407
ZPB T40-H5T |3~ | 420 | 469 308 (290 325|571 | 226 | 267 | 167 | 140 [ 180 [ 200 | 205 | 153 | 65 | 83 | 15 |64. 5(M8x1T7|4 x M32x1.5|240 | M10x20|0° /120° /2407




2PB5310/2PB7310/2PB 75-30/ 3AC(Single, three impeller ) Gas ring vacuum pump models and the performance parameters table {|P58 50/60HZ)

New products

B SEER K Mz Hise
2PB —
B8 = mE [ u= BEAR BEah | WwR | ReRdsy | mmms | o | AR
Gkl e single | frequency | power voltags current Max airflow | rated Vacuum | rated ccmpress | noises | Neight
three HZ KW v A m3/h mbar mbar dB (A) Ke
— 50 4 345-4154A 600-720Y 104 /5, 8Y 220 —450 500 73
PR 5310 HO7 - 60 4.6 380-4804 660-720Y 10. 3A /5. 9Y 280 —470 540 75 =
u 50 4.3 345-4154 600-720Y 104 /5. 2Y 300 —410 430 75
8 7310 HO7 = 60 4.8 380-480 A 660-720Y 10. 4 A /6. OY 360 =400 370 78 s
50 3 200-2404A 345-415Y 12.5A /7. 2 540 -180 170 81
B T75-30 HO7 H 60 3245 220-2754 380—480Y 12.64A /7. 3Y 635 -120 130 83 47
50 4.3 345-415A 600-720Y 114 /6.5Y 540 -210 200 83
28 T-A0 WY 0 60 4.8 380-4804A 660-720Y 12.5A /7. Y 635 -150 140 85 Hd
50 4.3 200-2404A 345415Y 154 /8.5Y 540 -210 200 83
#8 75730 Hat| & 60 4.8 | 22027556 | 3804807 15.54 /9. 0Y 635 ~150 140 85 i
5310/7310
A i v -
— YxZ . G— tu\ ‘_g \ W _.
v 'v‘/j":‘:::‘k Y, ". ht | " YxZ r‘\GC A L | ‘l, g vy .
// /,_:.:.\ \ l,\ ﬁo ? | / /\,{ A CL_I — — ' j/E_-\,_:_}
I [ ,\'. H 1— 7 | ; ) N . XL /}‘ O,
U i B T RIS T = L 5
\ i 5 (&=~ \ = o
" \ \t ///"\(é—l..j 3 {&JQ — —:L |2c\' J - e W o *
Sl H—L— > || —1— - = v .
T *= LA + ] ~1~ SN ] Q >¢
pl ¢R” 5 N | M Y B ~120

& ] 3 §P Q $R
2PB_5310 HO7 | 3 |334133701120]/260]|2950314]160]175]120)115]155] 96 §255] 48| 55 |83 |14] 4 |M8+17]| M32%1.5 |200|M8#20 | 0°/120°/240°
2FB 7310 HOY 3 |334]384]125]290]325]1432]209]197]1148]140]180|109]301| 54 25 83 | 15]4. 5] M8*17 M32%1.5 240 [M10*20] 0° /120° /240°
2PE 75-30 HO7 3 |426]447]145]305] 332 437] 230 243|148] 155|235 128] 129] 45 | c2¥?| 79 | 12| 6 | M8*17 M32%1.5 262 IM12#20| 0° /120° /240°
2PB 75-30 H17 | 3 |426]14471145]1305133214671230124311481155]123511281129] 45 | g2’ 79 1121 6 | MB*17 M32%1.5 |262|M12%20] 0° /120° /240°




s TAIQI SEIKO o

2PB8/3AC (¥, WK SHETRRSEMEESHFT (IP55 50/60HZ)

2PB8/3AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)
LR iR BA e PiE i a5
A5 RE | HE | m= BEhE WEER HRGRE | KRR R4 77
(2PB 3AC) = = . 3
double single | frequency | power voltage current Max airflow | rated Vacuum | rated compress | noises | Feight
double HZ KW ¥V A m3/h mbar mbar dB{A) Kg
R0 4.3 2345-415 A B600-720Y 9,54 /B, hY Bal =200 200 70
2PB 810 HO7 L bl
60 4.8 2380-480 A B660-720Y 9.5A /5. BY 620 -160 160 74
50 H. b 345-415 A 600-720Y 12.94A /7. 4Y 530 —300 320 80
2PB 810 H17 B 62
60 6.3 380-480A 660-720Y 12.94 /7,457 620 k) 340 82
50 7.5 345-415 A 600-720Y 16. 74 /9. 6Y 530 —320 380 80
2PB 810 H27 1:4 65
60 8.6 2380-480 A 660-720Y 17.34 /10. 0Y 620 =280 400 82
50 5. B 245-415 A 600-720Y 13. 34 /7 41X 520 -240 240 74
2PB 820 H17 Py 83
60 6.3 380-480 A 660-720Y 1234 /171 620 ~170 160 78
50 T. 8 345-415 A 600-720Y 16. T A /9, 6Y 520 =400 400 74
2PB 820 H27 A 38
60 8.6 380480 A 660-720Y 17.34 /10. 0Y 620 —360 330 78
50 11 345-415 A 600-720Y 28.0A/16. 2Y 520 —430 660 74
2PB 820 H37 pys 104
60 126 2380-480 A 660-720Y 29.0A/16. TY 620 -460 600 78
50 15 245-415 A 600-720Y 32.5A/18. 8Y 520 -460 670 74
2PB 820 H47 X 120
60 173 280-480 A 660-720Y 34, 5A/19. 97 620 —-490 750 78
50 4.3 345-415 A 600-720Y 9,5 A /5. BY 700 -150 140 70
2PB 830 HO7 B 57
60 4.8 380480 A 660-720Y 9,54 /5. BY 840 —90 90 74
50 5.5 345-415 A 600-720Y 12. 94 /7. 4¥ 700 —200 180 70
2PB 830 H17 =4 66
60 B: '3 2380-480 A 660-720Y 12.9A /7,457 340 -180 180 74
50 6. 8 245-415 A 600-720Y 16.7A /9, 6Y 700 =270 260 70
2PB 830 H27 Ll 69
60 8.6 280-480 A 660-720Y 17.34 /10. 0Y 340 =246 260 74
50 T8 345-415 A 600-720Y 16.7TA /9, 6Y 900 —200 180 74
2PB 840 H27 P 91
60 8.6 380-480 A 660-720Y 17.3 4 /10. 0Y 1050 -150 120 78
50 11. 0 345-415A 600-720Y 28, 04 /16.2Y 900 —280 370 74
2PE 840 H37 X 110
60 12. 6 380-480A B660-720Y 29. 0A /16, 7Y 10580 -310 350 78




2PB8 REEAEBIMER 3AC / Vacuum compression type curve

Vacuum Selection diagram 50 Hz—E TR EE 50 He Compressor Celetion Diagram 50 Hz—E#iEEEFE 50 Hz

T 1000 1 0/?]0
m'/h 25 m’

dj 800 sl | A 800

4 | ko, e R

2 600 et opesct g [T || 0

2‘ |- H. ://L_Fz‘_gii‘,’s‘?o‘_, - HQL%L\ 5fs| | '-..,,_.\‘-

5 400 11 11 ﬁg..-——ﬁlf‘?,r PABS Tt 3 5 = 400

g, L 12 _.___E:'—-—-Oj, ‘Lﬂ’fé‘f’ = .-_3’-]-.5_ .- 7155 ” 3

3 0 -1 - g5 p

S 200--{H0E 2 =Zac ol [ 171 558

: | Ladd a2

5 0 0

. 900=ter 400 300 200 100 o 100 200 300 400 500 600  70Qubar

Vacuum (&% / i JE) Total pressure differenced p/ B /& £Ap Vacuum (/£ 47/ jEJE)

I 1200 1200
m'/h L 2 Loy

w1000 soect I5[6 1000

L1 2] ™~

% 800 EE=un 55,,4'35&3‘9*‘ e 5:3 a=ug 800

Ly = [ rf”"Pnf_‘_ 20 E “"-;.h ; | |

g e s 2o R e S T B L LT s

5 00 SE{H%ﬁaH T -—Jiﬂy%?hﬂf | i 5.‘_...'-““-“"“‘( 5.5 "“° ils

g 2004~ © ' 200

2 0 5

” 500 mbar 400 300 200 100 0 100 200 300 400 500 600  700sbar 800

Vacuum (L5 / # J£) Total pressure differenceA p/¥/E £Ap Vacuum (/& 48 / JEJR)

=g




s TAIQI SEIKO o

2PB8 i‘ﬁﬁﬁﬁ# / Single stage mounting dimensions

810/830

F
L
fl
YxZ W
i - = a2 120°
=
m Bl SRy I A
- S
> 4
=
e
s 3 I
<=
| |
!
9p) ~—N K M
L
E
2PB B10-HOT7 |3~ | 451 461 | 509 | 152 | 356 | 394 | 433 [ 450 | 230 | 240 148 | 170|217 | 140 | 124 65 | G2,- | 15| 6 |4 x M32x1.5| 42 | 286 [M12x20| 0°/120° /240°
2PE 810-H17 |3~ | 451 461 | 509 [ 152 | 356 | 394 | 433 | 477 | 226 | 240 167 | 170|217 (140 | 124 65 | G2,- | 15| 6 |4 x M32x1.5| 42 | 286 [M12x20| 0°/120° /240°
2PE B810-H27 |3~ | 451 461 | 509 [ 152 | 356 | 394 | 433 | 477 | 226 | 240 167 | 170|217 (140 | 124 65 | G2,, | 15| 6 |4 x M32x1.5]| 42 | 286 [M12x20| O° /120° /240°
2PE 830-HO7 |3~ | 451 461 | 509 [ 152 | 356 | 394 | 449 | 466 | 230 | 240 148 | 170|217 (139 | 164 65 | G2, | 15| 6 |4 x M32x1.5| 42 | 286 [M12x20| 0O°/120° /240°
2PE 830-H17 |3~ | 451 461 | 509 | 152 | 356 [ 394 | 449 [ 452 | 247 | 240 167 (170|217 (139|164 69 | G2,; | 15| 6 |4 x M32x1.5| 42| 286 [N12x20 0° /120° /240°
2PE 830-H27 |3~ | 451 461 | 509 [ 152 | 356 | 394 | 449 | 492 | 247 | 240 167 | 170|217 (139 | 164 65 | G2,, | 15| 6 |4 x M32x1.5]| 42 | 286 [M12x20| O° /120° /240°




2PB8 ﬂgﬁﬁﬁﬁﬂ' / Two stage mounting dimensions

0
m M
~5 7
ot
. N\
|; ? e \i
,:‘\‘ m e
T 17T T A R | ]'_':._I'_ ____________ | \ g ’]/1':-\_1
|l/;,/_,\.’\ \\ ’," / ! of \,l \ ¢ ’
O '.-\_\,\\ e ’/ /j I\\d—"g. 3 y \.‘ N ot
) A o N, A
! \1’:):\:77 )/ T 20§
) ~. SO d -~ o ~
~ F AR ey - —_—d
I e s — =
— 26—
e H
2PB 820-H17 |3~ | 500|549 | 490|509 | 76 | 356|394 | 545|589 | 226 | 240 | 199 | 167 | 170 | 217 236 | B4 | 65 | G2,, | 15| 6 |4 x N32x1.5|42 [ 286 |M12x20|51. 4° /120° /240°
2FB 820-H27 |3~ | 500|549 | 490|509 | 76 | 356 | 394 | 545 | 589 | 226 | 240 | 199 | 167 | 170 | 217 236 84 | 65 | G2,,; | 15| 6 |4 x M32x1.5|42 | 286 [M12x20|51. ¢4° /120" /240°
2PB 820-H37 |3~ | 500|549 | 490 | 509 | 76 | 356 | 394 | 694 | 717 | 318 | 240 | 199 | 197 | 170 | 217 212 84 [105| G2,,; | 15| 6 |4 x M40x1.5(| 54 | 286 |[M12x20|51. 4° /120" /240°
2PB 820-H47 |3~ | 500|549 | 490|509 | 76 | 356 | 394 | 694 | 717 | 318 | 240|199 | 197 | 170 | 217 212 8¢ [105( G2,, | 15| 6 |4 x N40xl.5| 54 | 286 |M12x20|51. 4" /120° /240°




5

s TAIQI SEIKO o

2PB8 ﬂﬁﬁﬁﬂﬂ'/Two stage mounting dimensions

840 A F
b YxZ '._34..
e S || W
/ | ‘J “
. vEY ] | A
:_.’:'f /’ T‘\ \\\ = l
| / 1\ \ 1. o
m —‘#—‘—{"‘(.—J'J—'—H— ERY | e W
\ \ \ ,/ ;.' ":
\inte /1
S | —50N / = !
=¥ A ><
f v _,ﬁiﬁ;\)Jj' s v
o NN 4 pi=—
‘ 1 it | /l__ : 'i
Q- oR o N K— M
¢ L —
D
E
o
o ~~ 4 N N\°
‘,"‘I 4'\_1’
. J N o / b
17 )
AT s
— 2 ‘,-"I‘
| - /
C -] Q\‘-J{_
= 4 NN\
e\ — — 1 ZU
ZFE S40-H2T |3~ S00 [ 550 | 152 356 | 394 | 589 | 247 | 300 | 18T | 170 [ 217 236 | 125 | G2.,. [ 15 | BB | 4 x M32x1.5 | 42 | 286 | M12x20 | O°/1207 /2407
ZFE 840-H3T |3~ 500 | 550 336 [ 356 | 394 (694 | 318 | 300 | 197 [ 170 | 217 [ 312 | 212 [ 165 | G2, | 15 [ 66 | 4 = M40x1.5 [ 54 | 286 | M12x20 | 0°/120° f240°







s TAIQI SEIKO o

2PB9/3AC (8., R SHEZFESEMRESHET (1P55 50/60HZ)

2PB9/3AC (Single, double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

& B & LEBH BE Bz HE g% =E
(PR 34C) X ES hE Boe Ik BiE LR AP B HZEEA E%EA ‘ _

Vodel single | frequency | power voltage current Max airflow rated Vacuum | rated compress noises Weight

double HZ KW vV A m3/h mbar mbar dB (4) Ke

%5 910 WT| % a5 —smrama e I5-2870°57 1750 1% 0 o
il D e s = —— 35-08/T6- 77— 1750 270 20 o
#8910 BT B |5 | s04sA | sarTay 35 5A /21,01 1750 510 350 o
8 910 WT| % —a— 5 —smo-dm0A——paTa ORI T 1750 S0 s ] 12
%8 90 WT| W a4 | sa04a0n | ea0rany 50816 7Y U 20 210 o
R N - = — s S SA/TT I 500 0 ]
%8 920 WT| X | —g—| | smo-ma | eeo-Ta AT 310 70 0 o
T IR S s —— 52 oA /A0 01 T30 im0 =0 ] 2!
el IO S - = —— I5 2871057 1650 0 0 o
P8 90 W7 ® g re oA | erTa 508 /72 5% 1650 1% 1% ] 12
Rl D e it - —— 508727 51 1650 500 250 o
#5940 WT| g5 | sa0-mA | ar-Ta 36 5A/2L. 07 7310 £ o v
Rl D S wm— s w—— ALY 7710 60 0 s 22
Rl D i W= w—— s S 0R 73001 70 10 7 i
¥ %3 BT B |5 | s0-dsA | sarray 35 5A 72101 210 1m0 im0 ] %
Rl D S i s —— ALY, ¥ 10 %0 10 o W
3 943 WMT| # |G| smomia | ee0Ta 57 0A/30.07 2150 210 70 s




2PB9 mE=EARkBIgEE 3AC / Vacuum compression type curve

Vacuum Selection diagram 50 He——RZFEHEFE 50 Hz Compressor Selection Diagram 50 Hz— 4 EBERE 50 Hz
2500 2500
l m'/h m'/h
% 2000 B~ s i 2000
. 1500 Careas Enin== N 1500
. = e res Sat
- /Elj{"f " - h-‘..‘.’?_fr‘zfo‘ ‘..ézs
= BTAT [l dag i el | bpbobol lizls i
Z 1000 32;##'&,&;:,,;;%:““5&“& %‘"-—-i%; o = gl
S 50034 sl Lt U £ me - = T 500
: TR CYUNN
500 mwhar 400 300 200 100 0 100 200 300 400 500 600 mbar
-.Vacuum(.}‘!\."}_’,:'ﬁ,'l‘-_) Total pressure differenceAp/ B/ £Ap Vacuurﬂ{.-5{‘-3"‘37.-"Af-&)b

Compressor Selection Diagram 60 Hz—E45iERIE® 60 Hz

2500 : < 1 2500
1 /b 11ls %Eﬁ/ s 1715 q /h
w2000 TP T =S4+ 2000
"4 gs/ 1) ) . s
= - glz PPEEA ~ 1500
z 1500 lé'é‘, PTTY PFHoA sl I
S il | | |14t —H::'—'gp@g; 28 FiEn e~ “r(,'g | |23
£ 1000 ST o P19k T = s 1000
2 ba {23 115 Kﬂg“ﬂ i BRE 212 il
S 500 D 500
a 0 0

500 mbar 400 300 200 100 0 100 200 300 400 500 600 mbar
Vacuum (£ %/ i /£) Total pressure differenced p/ /% £Ap Vacuum (/£ 5%/ EJE)

=ik it




s TAIQI SEIKO o

2PB9 ¥ﬁ§%¢ / Single stage mounting dimensions

910/930

“

Y e

P,

ne

x172

~J

PX

Uj i

A 2 Type #aﬁ.jl A | E |E1’ C ¥-Holes

2PB 910-HOT |3~ | 550 | 569 |55 | 207 | 15| 360 [ 415|525 | 644 | 605 | 265 [ 300 | 167 (533 | 38 | 69 (92 (100 | 150 [15] 21 |M12x30(4 x M32x1.5| 42 (490 [M12x30 |0° f120° /240°
2PB 910-HIT |3~ | 550 | 569 |55 | 207 |15 360 (415|611 | 644 | 605 | 345 [ 300 | 197 (533 | 38 | 89 (92 (100 | 150 [15] 21 |M12:x30(4 x M40x1.5|54 (490 [M12x30 |0° /120° /240°
2PB 910-H3T |3~ | 550|569 |55 (207 |15|360 415|611 [644 | 605 | 345 (300 | 197 (533 | 39 |89 (92| 100|150 [15] 21 |M12x30(4 x M40x1.5|54 (490 |M12x30 0° F120° /f240°
2P 930-HOT |3~ | 550 | 569 |55 | 207 |15| 360 [ 415 [ 563 | 662 | 643 | 268 | 300 | 167 (533 | 39 (12792 (100 | 150 [15] 21 (M12:x30(4 x M32x1. 5|42 (490 |M12:x30 |0° F120° f240°
2PB 930-HIT |3~ | 550|569 (S5 |207 |15|360 (415|849 652 | 643 | 345|300 | 197 (533 | 39 [127(92 [ 100 | 150 [15] 21 |M12:x30(4 x M4Dx1. 5|54 (490 [M12x30 0° f120° /240°
2PB 930-H3T |3~ | 550|569 |55 (207 |15|360 | 415|649 | 652|643 | 345|300 | 197 (533 | 39 [127(92 [ 100 | 150 [15] 21 |M12:30(4 x M40x1.5|54 (490 [M12x30 |0° /120° f240°




2PB920 &R~} /Two stage mounting dimensions

920

I=

Bl

9
L

E¢X-3x% 1

[=

- N

- A

YxZ
{
f“‘z
r
."_‘ )'-'>:
ol
\<) 3
.
~ A
o) _..\f

B g 'h-e#ﬁﬁﬂ k| 'y

2PB 920-H1T (3~ |61S|TS80|(60T |16 [104] 15 |360|415| 752 (786 |634|345|300| 234 (197(533|39|230|92 11001501521 [11T|M12x30 (4 x M40x1.5|54 [490|M12x30
2PB 920-H2T |3~ |615(780|60T| 16 [104| 15 |360|415| 752 (786|634 |345|300(234 (197|533 |39 |230|92|100(150| 15|21 [117T|M12x30 |4 x M40x1.5(54 [490|M12x30
2FB 920-H3T |3~ (615|780 |60T (16 |104| 15 (360|415 (752 |TS6 |634 345|300 234|197 |533(39|230|92 (100|150 15121 (117 |M12x30 |4 x M40x1.5|54 |490|M12x30
2PB 920-H4T (3~ |61S5|TS80|(60T (16 [104] 15 |360|415(812 (786 |634|405|300|234|197(533|39|230|92 1001501521 (11T |M12x30 (4 x M40x1.5|54 [490|M12x30




TG

s TAIQI SEIKO o

2PB940 ﬂﬁﬁﬂ' / Two stage mounting dimensions

940

2FB 940-H2T

615

BE3

19

207

345

358

197

533

34

230

150

100

140

4xM40:x1 .5

M1z2x30

i—Holes

120° /f80° /80°

2FB 940-H37

615

BE3

19

207

345

358

197

533

39

230

150

100

140

4xM40x1 .5

M12x30

120° f80° /f80°

ZFE 940-H4T

B15

B63

19

207

345

358

197

533

39

230

150

100

140

4xM402x1 .5

M1Z2x30

120° f80° /80"




2PB9 ﬂf‘ﬁﬁ%ﬂﬂ' / Two stage mounting dimensions

943

ZFB 943-H2ZT |3~ |[B15|T23|307T|490) 526 | 1201 | 545|578 (291|219 135 (201 | 55 (MS=40 (4 x M40x1. 5(54 |M12x10.5
ZFB 943-H3T |3~ |[B15|T23|307T|490) 526 | 1201 | 545|578 (291|219 135 (201 | 55 (MSx40 (4 x M40xl1. 5|54 |M1Z2x10.5
ZFB 943-H4T |3~ |[B615|T23|307T|490) 526 | 1201 905 |ST8 (351|219 135 (201 |55 (ME=40 (4 = M40x1. 5|54 |M12x10.5




TG

* TAIQI SEIKO »

4PB/ 1AC (B SHEATRESRMEESHE (IP55 50/60HZ)

(Single double

4PB f1AC

impeller} Gas ring vacuum pump models and the performance parameters table (IP35 50/60HZ)

;A HiE e BK e BiE
ne Y = Vg & BE
) e Lk 3 ThE BiE HIE B HER HFEEKAH R EH
& HZ KW v A m3/h mbar mbar dB(A) Kg
50 0.55 200-240v 3.1 47 -230 290 57
210 A75 I} 18
60 0.63 200-240v 7.1 57 -270 320 62
50 1.5 200-240v 9.7 47 -370 600 58
220 A75 by 30
60 1.75 200-240v 10.3 60 -420 660 62
50 0.94 200-240v 7.6 66 -250 350 57
310 A75 i1 18
60 1.1 200-240v 9 80 -280 390 62
50 1.5 200-240v 9.7 65 -400 550 59
320 A75 X 32
60 1.75 200-240v 10.3 76 -390 540 53
50 1.1 200-240v 10.1 87 -300 380 55
410 A4l ::A 23
60 1.3 200-240v 10.3 105 -350 390 62




APB-1AC B R EAEREE  /Vacuum compression type curve

Vacuum Selection diagram 50 Hz—RAHEREE 50 Hz Compressor Celetion Diagram 50 Hz—[K4FEMER 50 Hz
100 100
I i 9 w'/h
£ 80 80
£ 60 —- < 60
g - he229— & N
§' 40 -____.-"f ' (h — 40
S 1= }gsﬂb’ S TR
5 20 - BENE = 20
> ] 08:/ // SR = T T T $1.6
5 O 1 r s 1 ?/ 5! .&5 4 _? 0
] ] | 1
500 ubar 400 300 200 100 0 100 200 300 400 500 600 700 mbar
Vacuum Selection diagram 60 Hz—REFEEXEE 60 Hz Compressor Celetion Diagram 60 Hz— 4T EE 60 Hz
120 | i
I m'/h m'/h
n 100 - 100
A\ 37
£ 80 T V4 e 80
= - Eﬁﬁ 7]’ ™
: 60 P = lffﬁ—- S 60
5 /4"’ 'I}Q'/ “ ‘u: =3
o - ‘l@.—--”"’ "1 ) il b =
g 40 =T = T [ AEREE 40
) IO‘ ’__?:’ - L ~=] s
3 20 — M b | BB o1 20
147 .63 i .
0 I 0
500 mbar 400 200 100 0 100 200 300 400 500 600 700 mbar



TG

* TAIQI SEIKO »

4PB/3AC (B SHEBFHERMEESKE (IP55 50/60HZ)

4PB /3AC (Single impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

B LABH BA Hise e
e L= HEE
- W& A i HEHE e R HRRE HEKEA K4k
Modsl single | frequency power voltage current Max airflow rated Vacuum rated compress noises | Weight
oae

double HZ KW v A n3/h mbar mbar dB(4) Ke
50 0. 55 200-240A/345-415Y 2.8A/1. 6Y 47 -230 290 57

4PB 210 H16 iz} 16
60 0. 63 220-275A/380-480Y 3A/1.TY it =270 320 62
50 0. 55 200-240A/345-415Y 2.8A /1.6Y 66 -250 250 57

4PB 310 H16 L=<k 16
60 0. 63 220-275A/380-480Y VALY 80 -260 250 62
50 0.81 200-240A/345-415Y 4A/2.3Y 66 -280 350 57

4PB 310 H26 L2} 17
60 0. 94 220-275A/380-480Y 4A/2.3Y 80 -340 360 62
50 11l 200-240A/345-415Y BedA/3. 1Y 87 -300 380 58

4PB 410 H16 L::h 23
60 13 220-275A/380-480Y 5. 4A/3. 1Y 105 -340 370 62
50 1.8 200-240A/345-415Y 7.540/4. 3Y 120 -310 360 64

4PB 510 H16 H 26
60 2. 05 220-275A/380-480Y 7.640/4. 4Y 145 -340 320 68
50 2.7 200-240A/345-415Y 11. 4A/6. 6Y 120 -310 470 64

4PB 510 H26 H 29
60 2. 55 220-275A/380-480Y 11.2A/6. 5Y 145 -360 480 68
50 2.2 200-240A/345-415Y 11. 4A /6. 6Y 165 -340 360 65

4PB 610 H16 i< 32
60 2.58 220-275A/380-480Y 11.2A /6. 5Y 195 -360 315 71
50 3.3 200-240A/345-415Y 13A/7.5Y 165 =340 480 65

4PB 610 H36 L=<k 38
60 3.8 220-275A/380-480Y 14. 2A/8. 2Y 195 -380 530 71




APB EZi e E4E%xRMEE 3AC /Vacuum compression type curve

Vacuum Selection diagram 50 Hz—RFEHEFR 50 Hz Compressor Celetion Diagram 50 Hz—E4¥EHEE 50 He
200 200
I w'/h o/h
0 4
" 150 ap801=— =086, IS
/_.—-"
% Eal Al 5101 ¥ jE\"“*\
= 100 - = 1 & - <] 100
E o0 |35 Sudar | et r,_,.»%-‘;’é’:gj_g_ 4PRET-O| ol | ~~02{2| 1=
2 T T 710 (R BT
= 2. z({ 6)of” | e I g 8 2 v ---._::%“‘::-h__ ~~12]2
Z 0 1. ‘f/g ::gr‘;i:.‘%‘{ﬂ# o , 0557 3.1' 0 0
400 mbar 300 200 100 0 100 200 300 400 900 mbar
‘Vacuun(ﬁ.";/ﬁﬁ-.) Total pressure differenced p/ &/ £Ap Vacuum(fiﬁi/i)i)’-

200 200
E kil 3
: |1 _—
< 150 — — & < 150
¥ AT Laee et B L L] | | TR
Z 100 = — APBAET 7 = 100
o L~ i ™ ™~

1 e = 1 P ~l1.[75 -
3 - Q;éﬁ// e ///::jP 319 égléﬂu\\,ﬁ_‘ "O-..__-_‘___ \\\3.3 .
8 S 8 o g D B e B e oy - b d T E T
3 0.]9 - 63°| 10./94
0 0.83 -
400 mbar 300 200 100 0 100 200 300 400 500 600 mbar
ancuun{.ji?}S/ﬁE) Total pressure differenced p/ /& £Ap Vacuuﬂ(fﬁﬁ'ﬂfﬁ)}-_)-.




TG

* TAIQI SEIKO »

4PB $ﬁ§§ﬁ# / Single stage mounting dimensions

1
= Y%z ©V ! :
3l [
3 1 & (J;\
] . | o) = :
m o -— t: — = ®X/‘) i
= i)™ szi g/
<L 52 == 90
| LIl
e
M
F
4RE 210-H16 |3~ |294(319|39| 87 [260|298|293(125(167|111|105|252| 65 [124|c1, .| 64 | 14 | 4 [140| 31 (105|107 [Mex17|M25x1. 5| H16x1. 5| 32|153|Mex15
4RE 310-H16 |3~|313|339|39| 94 [200|325|295|153|177|120|105|256| 67 [130[G1,,.| 64 | 14 | 4 |140| 31 |114|116|M6x17|M25x1. 5| M16x1. 5| 32|153|M6x15
4RE 310-H26 |3~ |313(339|39| 94 [290|325|295(|153|177|120|105|256| 67 [130(G1, | 64 | 14 | 4 [140| 31 [114|116{M6x17|N25x1. 5| H16x1. 5|32 (153 |H6x15
4RB 410-H16 |3~ |346(375|38|103|315[350(321(129(195(111|130(260| 66 [143[C1, .| 64 | 14 | 4 [140| 31 (125|127 [Mex17|M25x1. 5| H16x1. 5| 32| 167 [MEx15
4RE 510-H16 |3~|368|395|39|114|328|363|361 185|205 128|152 | 265| 68 [148|c1, .| 64 | 14 | 5 [140] 31 [137] 138 [Mex17|M25x1. 5|N16x1. 5| 32|192|H8x15
4RE 510-H26 |3~ |368|395|39|114|328|363|261(185|205|128|152|265| 68 [148[G1,,.| 64 | 14 | 5 [140| 31 [137|138|Mex17|M25x1. 5| M16x1. 5] 32|192[M8x15
4RE £10-H16 |3~ |418(455|39|127(371|406 |364(|129|235(111|105|271| 72 [172|c1, .| 64 | 14 | 4 [140| 31 [153|155|Mex17|M25x1. 5|H16x1. 5| 32| 228 |HEx15
4RB 610-H36 [3~~|418[455|39|127[371|406|390|211|235|111|105]271 | 72 [172]|c1, .| 64 | 14 | 4 |140] 31 [153]| 155 |M6x17|M25x1. 5| N16x1. 5| 32| 228|M6x15




e (L) FRAHAE
7 R B 4 ¥

X
VA
=

& Iy H R

8 8




* TAIQI SEIKO »

4PB (WMG/=%) SHAZRBSKMEESHE (IP55 50/60HZ)

4PB /3AC (double, three impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)
- k>3 ik BR e b _— 5
Po— & R hE #iE Rk e H HRSE BEFEA 4R S
Modal double | frequency | power voltage current Max airflow rated Vacuum | rated compress noises | Weight
oae

three HZ KW v A m3/h mbar mbar dB(A) Kg
50 0.81 200-240A/345-415Y 4A /2, 3Y 47 G dd] 490 58

4PB 220 H26 s 24
B0 0.94 220-275A/380-480Y 4A/2. 3Y 60 -440 480 62
50 1.6 200-240A/345-415Y 7.BA/4.3Y 47 -370 650 58

4PB 220 HS56 X 28
B0 2.05 220-275A/380-480Y 7.6A/4. 4Y 60 -500 740 62
50 i | 200-240A/345-415Y 5. 4A/3. 1Y 65 -400 480 59

4PB 320 H4s6 Pl 29
60 1.3 220-275A/380-480Y 5. 4A/3.1Y 76 -430 480 63
B0 1.6 200-240A/345-415Y 7.5A /4. 3% (515] -440 540 59

4PB 320 H56 XX 30
60 2.05 220-275A/380-480Y 7.56A /4. 4Y 76 -560 600 63
50 1.6 200-240A/345-415Y 7.5A /4.3Y 7 -430 450 61

4PB 420 H26 A 33
60 2.056 220-275A/380-480Y 7.6A /4, 4Y 105 -430 410 66
50 3.3 200-240A/345-415Y 13A/7. 51 37 =500 750 61

4PB 420 H56 P 29
60 2.8 220-275A/380-480Y 13. SABY 105 -510 850 66
R0 2.2 200-240A/345-415Y 11. 4A/6.86Y 120 =470 460 64

4PE 520 H26 X 40
60 2.5 220-275A/380-480Y 11. 2A/6.5Y 145 =500 450 70
B0 4.3 345-415A 9, hA 120 -500 820 (§15)

4PB 520 H77 X 51
60 4.8 380-480A 10A 145 -h30 3810 Tl
50 208 200-240A/345-415Y 13A /7.56Y 165 -4560 500 67

4PB 520 H386 Pl 48
60 2.8 220-275A/380-480Y 14. 2A/8.2Y 195 -430 420 T
50 b.h 345-415A 12A 165 -460 740 63

4PB 620 H57 i 65
60 6,3 380-430A 11.5A 195 —430 840 T2
. R0 .8 345-415A 164 170 =730 1040 72

4PB 630 HsB7 = 26
60 8.6 380-480A 164 200 =700 1040 76




Suction Capacitysf A - e

200 200

m'/h m'/h

150 ACB 150
ot 6 -

100 e u 100
e T 5B« :3i/ |~ -
: -

3 - [0
0 ik .81 . : 187313 0
800 mbar 600 400 200 0 200 400 600 800 1000 1200 mbar
Vacuum (L % / 1 ) Total pressure differenceA p/ & /E #Ap Vacuum (25 / EJE)

20
mi/h

150

100
50

0

200
m'/h
i /z-d ST i 150
= - = d 5% e 100
a_i{ 6.p% 3| _}-1 S~ T
-5 ot 50
A; r_ﬂj _ 10 18
=4 : 4 1 1 = g8 0
800 mbar 600 400 200 0 200 400 600 800 1000 1200 wmbar
Vacuum (£ £/ fi &) Total pressure differenced p/ &/ ZAp Vacuum (/& 43/ E/£)



TG

* TAIQI SEIKO »

4PB MU LERT / Two stage mounting dimensions

4FF 220-H2B (3~ [313|326|359|43[260(295|469 (130|167 |272| 111|105 426|241 125|G1,, |64 | 14 [ 4 | 140 | 31 | 105 [ 107 |[MBx 17| M25x1.5 |[M1Bxl. 5|32
4FF 220-H56 |3~~~ |313|326(359|43|260|298|525 | 185|167 (272 | 128|105 | 426 (241|123 | GLl. ¢ (64| 14 | 4 | 140| 31 | 105 [ 107 (MEx17| M25x1.5 ([M1Bx1.5| 32
4FB 320-H46 |3~~~ |331|345|380[47|290|325|390| 153|177 (291 |120| 105|431 |243| 130 GL. o [64 | 14 | 4 | 140 | 31 | 114 [116 [MEx1T| M25x1.5 |[M1Bx1.5| 32
4PB 320-H56 |3~~~ |331|345|380|47|2090|325[421 | 185|177 (291 |128| 105|431 |243| 130 GL. o [64 | 14 | 4 |140| 31 | 114 [116 [MEx1T| M25x1.5 |[M1Bxl.5| 32
4FB 420-H26 |3~ [363|377|414(52[315|350|529|180|195|319|128| 130|436 |243| 143 | G1,,, |64 [ 14| 4 | 140 | 31 | 125 | 127 |MEx1T| M25x1.5 |[M16xl.5[32
4FPB 420-H56 (3~ [363|377|414|52(315(350|554(211|195|319|128( 130|436 |243| 143 | G1.,. |64 | 14 [ 4 | 140 | 31 | 125 [ 127 |[MEx1T| M25x1.5 |[M16xl.5[32
4PB 520-H26 (3~ |387[402[435|57 [325]|363|549| 185 (206|343 |125( 152|453 256|145 Gl [B4 [ 14 [ S [ 140 ] 31 | 137 [ 135 |[MEx1T| M25x1.5 ([M16x1.5|42
4FB S520-HTT |3~ |387|402|435(57 [328|363| 603|211 | 206|343 | 148| 152|453 |256| 148 | G1,,, |64 [ 14 | 5 | 140 | 31 | 137 | 138 |MBx1T| 2xM32x1.5 [M16x1. 5[ 32
4FE B20-H36 (3~ |442|45T[495|63 [3T2|406|578|211 (236|389 (128(152|458 (259|173 | Gl (64| 14 [ 5 | 140 | 31 | 153 | 155 |[MEx1T| M25x1.5 |[M16x1.5|42
4FB B20-HST |3~ |442|457)|495|63[372[406)643)245|236)389|148]152]458(259) 173|G1,. . [B4[ 145 | 140 31 | 153 [ 155 [MBx1T| 2xM32x1.5 [M16x1. 5[ 42




4PB-630 = H RERT / Three stage mounting dimensions

M

4RE 630-08HB7-8 | 3~ [ 442 [ 402 [ 492 [ 63 [ 371 [ 406 [ 717 (274 [ 236 [ 389 | 152 [ 539 (336|172 |G1,,, | 64

14

5

146 | 153 |M6x17 [M32x1.5] 42

120



TG

s TAIQI SEIKO o

2PB 213-1HY99 Z¥ S LR 2PB 213-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
e LI BT ICE D& BAME N ET = J N e =
‘15.‘
PRM KW M3/h mbar mbar db (A) Kg
3000 0.7 80 -130 130 53
3600 0.83 100 -160 160 56
A 5.5
4200 0.95 120 -170 170 60
5000 1.1 140 -180 170 62
| 150 - 150
— 00 O pm
4200rpm
S 120 == ] [, 120
"‘f? EZUUr;mV ’ /
2 90 — - & —1 90
a5} '““'mﬁ"_‘\
5 3 O ! ___—/ _ ’yf ~ %\\;—-H-— ’/ 3 O
-_E \ __“‘_.‘-"“ _,w-“”"""ﬂﬁ %“’MH____.‘—-—'-';--"—"-—-———
=
L5 ]
200 150 100 50 O 50 156 150 200
Vacuum (EZF) Total pressure difference Ap@RIEZE AP Pressure (JEH) —e=




SR ERME (L) FRAFA
&8 6 7 K &F 4 X% #

2PB 223-1HY99 &3 K Hh£E 2PB 223-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
e R ALETh=E RAE RAEZT =RES % & g8
=
PRM KW m3,/h mbar mbar db (4) Kg
3000 0.7 8b =210 240 55
3600 0.83 102 —-260 290 61
A 9
4200 0.95 128 =290 280 64
5000 L 1 1560 -220 230 66
200 200
| 160 |12 160
2 = —] [T~
= 120 | ~ [ 1 120
*3 Ln/’/ | | ™
: 80 < —7 [ = i
5 40 | 1 i~ A 40
= ' e ~
r% \‘\K-{”/-ﬂ ‘D-RH""--.._,__-
400 350 300 250 200 150 100 50 0 50 100 150 200 250 300 350 400
Vacuum (&) Tolal pressure dilference Sp@IEZE AP Pressurc (EF1) —=




TG

s TAIQI SEIKO o

2PB 233-1HY99 ¥ Lk 2PB 233-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
e R LR RAME mANET m NS I =
7 PRM KW m'/h mbar mbar db (4) Kg
3000 0.7 105 -120 140 54
3600 0.83 120 -160 180 57
A 7
4200 0.95 140 -220 230 60
5000 L1 170 -210 190 63
| 200 | 200
= 160 wE — ~ 160
o r
5 L20) — - 120
g 80 s - 80
= i e '%'e«%v>>———--'
300 250 200 150 100 50 0 50 100 150 200 250 300
Vacuum (EZF ) Total pressure difference Ap&EIEZE AP Pressure (JEFHD —=




SR ERME (L) FRAFA
&8 6 7 K &F 4 X% #

2PB 413-1HY99 Z¥ K H£R 2PB 413-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max wvacuum Max pressure Sound-Level Weight
g R AETIE mAME RAEE = A M & 5
%S PRM KW M3/h mbar mbar db (&) Kg
3000 0.85 150 -160 160 63
3600 0.95 180 -160 160 64
§ 4200 1.3 220 180 180 68
5000 1.8 250 -140 130 74 o &
3000 1.3 150 =170 200 63
3600 1.5 180 =210 200 64
; 4200 1. 75 220 =210 190 68
5000 | 250 -190 190 74
i 250 ma———— 250
3 200 F—F 5 S T = oy
:E 100 o /" /,/ = “»\_‘H\""\ A\ 100
¥ 50 S8\ =g 50
e ~ A
300 250 200 150 100 50 O 50 100 150 200 250 300
Vacuum BL5E) Total pressure difference ApfilsZ aP Fressure (FHRF77) —a—




TG

* TAIQI SEIKO »

2PB 423-1HY99 S¥ K 2k 2PB 423-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
iR BeE ThE BRI E AR =S NIV e BE
W5
PRM KW w'/h mbar mbar db (&) Kg
3000 2.2 160 -330 440 66
3600 2. 55 190 -350 420 69
A 13.5
4200 3 230 -420 400 72
5000 3.8 260 -380 330 17
300 — e — 300
| 50 | —2 et Tl 250
= qmc:m —— o—]
= 2200rpm \
ﬁ 2650} /,./ | — 4 200
§ 150 = — == {150
s 100/ T AT \\ 100
500 400 300 200 100 0 100 200 300 400 500
~——— Vacuum (EZF) Total pressure difference ApREE AP Pressure (EF1) —e=




SR ERME (L) FRAFA
&8 6 7 K &F 4 X% #

2PB 433-1HY99 Z¥ X % 2PB 433-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
e HiE BEEIhE mANE BAREE =KRIEA R E g
=
PRM KW n/h mbar mbar db (&) Kg
3000 1.3 180 -180 200 64
3600 I.=h 210 =210 240 65b
A 8.5
4200 1.75 255 -240 230 69
5000 21 300 -180 170 75
| 300 s it Ve 300
= L8l [——r=a= S 250
B — —
= 200 A - B~ N 200
3 / / b B
& 150 / < \ 150
50 < — < oy 50
300 250 200 150 100 50 0 50 100 150 200 250 300
~—t——  Vacuum (E.Z) Total pressure difference ApSHJEZE= AP Pressure (JE /7)) ——e—




TG

s TAIQI SEIKO o

2PB 513-1HY99 ¥ K 4R 2PB 513-1HY99 parameters and the curve
NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
o K AEEIE AR RANET wmAES W HiE
WS PRM KW M3/h mbar mbar db (&) Kg
3000 1.3 210 -170 170 64
A 3600 1.5 255 —150 140 70
4200 1.76 300 =130 100 72
5000 2.1 350 =70 60 75
3000 1.6 210 -200 190 64
B 3600 2.05 255 -220 210 70 1
4200 *3 300 -180 170 72
5000 2.6 350 -130 120 75
3000 22 210 -220 270 64
C 3600 2. 85 an5 -260 290 70
4200 3 300 =300 270 T
5000 3.8 350 =270 240 F45)
500 500
l —
_ 400 s 400
< | ———]—22000pm 1 —1
2 300 — BT im | |$%cv 300
£ 200 S v o o — — 200
= / / T ot B \
£ 100 - 7 o e R 100
400 350 300 250 200 150 100 50 0 100 200 300 400
—~—— Vacuum (EZF) Total pressure difference Ap@REZE AP Pressure ([EF} ) —=




————

Vacuum £ ﬁ =)

Tolal pressure difference ApBIEE AP

AR RTRA (LK) HRAT
88 a6 k&8 F £ X 4
2PB 523-1HY99 Z¥ KM% 2PB523-1HY99 parameters and the curve
MO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
e ¥z ALE ITh=E =AfE mAEE PN & B8
PRM KW m3/h mbar mbar db(4) Kg
3000 3 230 -340 410 72
3600 3. 45 27b -380 360 74
§ 4200 4.3 320 -340 300 78
5000 380 -300 240 83 a1
3000 4 230 -380 440 72
3600 4.6 grs -410 4380 74
i 4200 6 320 -440 480 78
5000 6.9 380 -460 410 83
000 500
,L400 :j%fgf:: - 400
2300 — P e - ” %v R 300
£ 200 S ////',,1 — 200
£ 100 Z: P M il P ‘“\«uﬁ_ D \\ 100
== B ==
400 350 300 250 200 150 100 50 ) 100 300 400

Proaanre ([E 7))  =————




TG

s TAIQI SEIKO o

2PB 533-1HY99 Z¥ Xk LR 2PB 533-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
- IR MCEIhE B AE BRART AR M )
=]
PRM KW mn3/h mbar mbar db (&) Kg
3000 % 2 270 220 230 65
3600 2. 55 330 -260 250 71
A 12
4200 = 390 —2T0 250 73
5000 3.8 460 -230 220 76
500 ————— 500
= ———— (10 O pm ‘ /_,.--—
= | =z | | \\“*-ql
E 300 T 300
: 200 | 200
Lc) ( / - — ?‘““ﬁ'«mm«% \\-\ e
= 100 y - e m— — "--.>/ 100
300 250 200 150 100 50 0 50 100 150 200 250 300
Vacuum (E 5 ) Total pressure difference Ap@EEZE AP Pressure (JE 7)) =——




SR ERME (L) FRAFA
&8 6 7 K &F 4 X% #

2PB 613-1HY99 Z¥r K Hh£k 2PB 613-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level | Weight
.- 231 METIE RAE RRET RRE ME 8
PRM KW m3/h mbar mbar db (&) Kg
3000 2.2 265 -220 220 65
3600 2 Bb S5 =250 240 71
: 4200 3 400 -240 250 73
5000 3.8 480 -180 190 76
3000 3 265 -260 250 64 1
3600 3.45 315 -280 280 70
’ 4200 4.3 400 -270 280 72
5000 3 480 -220 220 75
| 200 — — 200
£ 300 T - NS 300
£ 200 // iy e S »\ 200
: e e |~y et
E 100 N—"_ ) H“‘\d 100
E:
400 300 200 100 0 100 200 300 400
~—a—— Vacuum (EF) Total pressure difference ApRJEZE AP Pressure (JEFj) =




TG

s TAIQI SEIKO o

2PB 713-1HY99 ¥ K& MLk 2PB 713-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressure Sound-Level Weight
. R ACE T3 BAE N BAE W s
PRM KW m3/h mbar mbar db (4) Kg
3000 2.2 320 -190 190 69
3600 2. 55 380 190 190 72
A 4200 3 440 -160 160 75
5000 3.8 530 130 130 80
3000 3 320 -260 270 64
B 3600 3.45 380 -240 230 70 i
4200 4.3 440 =270 220 72
5000 ) 530 -220 210 75
3000 4 320 -290 360 64
c 3600 4.6 380 -320 310 70
4200 6 440 340 300 72
5000 6.9 530 =300 270 75
600 ~ 600
%ggl gp:r": | e~ 500
500 —— i —— ~J 7 -
400 400
21/ NN
300 | | N \ 300
v L/ =] NN
2 0 O < I » ’] // df!_,ﬂ — ‘%__.\“w‘\}n \—n..___ = \l \\ 2 0 0
100 =11 — - Tl 100
500 400 300 200 100 0 100 200 300 400 500
Vacuum (E 2= D Total pressure difference ApEJEZE AP Pressure (EF} D) —=




SR ERME (L) FRAFA
&8 6 7 K &F 4 X% #

2PB 723-1HY99 &%y K &k 2PB 723-1HY99 parameters and the curve

NO Rated Speed Rated Power Max air flow Max vacuum Max pressiure Sound-Level Weight
wme 231 EREThE BAHE BRAEZE ERES & g
PRM KW n'/h mbar mbar db (A) Kg
3000 4.3 320 -360 380 73
" 3600 4.8 380 -350 320 75
4200 6.3 440 =310 300 78
5000 6.9 530 =240 200 84
3000 5.5 320 —420 500 i)
- 3600 6.3 380 —440 500 75 -
4200 75 440 -440 420 78
5000 8.8 530 —440 350 84
3000 7.5 320 —440 570 73
5 3600 8.6 380 460 660 Th
4200 10 440 —460 600 78
5000 12 530 460 410 84
600 600
l —%=
. 500 = 500
‘c‘:_; 2200rpm |
£ 400 X )r( 400
£ 300 / / S 300
L]
£ 200 j>> 200
;j)
= 100 - 100
750 600 450 300 150 0 200 100 600 800 1000

Yacinm (ﬁﬁ ) Total pressure ditfterence &pQ\EZ‘.—_‘ FaY B Pressurce (& Jp) —=—




TG

* TAIQI SEIKO »

2PB 733-1HY99 ¥ Kz i<k 2PB 733-1HY99 parameters and the curve

Vacuum (ELFSD

Total pressure difference ApEEZE= AP

NO Rated Speed Rated Power Max air flow Max wvacuum Max pressure Sound-Level Weight
poye L2357 A& ThE mARE BAET BRES e 2 HE
R PR K w’/h BT >y db(A) Ke
3000 29 420 -180 170 70
A 3600 2. 55 500 -160 150 73
4200 3 580 -140 130 76
5000 3.8 660 120 120 81
3000 3 420 -220 200 70
B 3600 3.45 500 -200 170 T3 18
4200 4.3 580 -180 170 76
5000 5 660 -150 150 81
3000 420 -260 290 70
3 3600 4.6 500 -260 260 73
4200 6 580 -260 260 76
5000 6.9 660 -460 240 81
' S00 ~ E 800
o 700 f—=p= 700
= 2P00rpm | ————
2 600 5 TN 5 600
% 500 _—— — N3 )
5 400 s AV % \ 400
B 7 o / / \
< 300 7 / — T 300
200 / /1 st g P N \\ 200
LT e Y —
100 — W B e 100
300 260 200 150 100 50 O 50 100 150 200 250 300

Pressure (& #3) —e—




G ERME (L) FRAH
68 &6 I K F & %
1HY9S BHE HE EERT
1HY9S single-stage pumb Dimension
L"- .
" lep*
: \
B LR
'_.e'._ ,"l
_ 5
;/)-P(
12l

2PB 213-1HY99 | 246|240 | 90 | 157 [ 125]230| 89 [ 211|125 14 | 140 51 [ 43| 2 | 24 [ 40 | 8 | 20 | 128 | M6X15 | 140
2PB 233-1HY99 | 246 | 240 | 90 | 157 [ 125|241 | 89 [211]125) 40 [ 14 [151 ) 51 | 43 | 2 | 24 [ 40 | 8 | 20 | 139 | M6X15 | 140
2FB 413-1HY99 | 286 [ 300 [ 115 [ 157 | 125|240 108 | 233|148 | 45 | 14 [143| 53 | 43 | 2 | 24 [ 40 | 8 [ 20 | 130 | M6X15 |174
2FB 433-1HY99 | 286 | 300 [ 115 [ 157 | 125 | 256 | 108 | 233|148 | 45 [ 14 [159| 53 | 43 | 2 | 24 | 40 | 8 [ 20 [ 146 | M6X15 |174
2FB 513-1HY99 | 334 [ 324 [ 120 [ 177 | 140 | 297 | 127 | 268 | 169 65 [ 18 [169| 60 | 44 | 2 | 28 | 40 | 8 [ 24 | 156 | M8X20 |200
2PB 533-1HY99 | 334 [ 324 [ 120 [ 177 | 140 | 316 127 | 268 | 169 | 55 | 18 (188 | 60 | 44 | 2 | 28 | 40 | 8 [ 24 [ 175 | M8X20 |200
2PB 613-1HY99 | 360 [ 358 | 122 | 177 [ 140|318 | 135[(281 | 183 | 55 [ 18 |175| 60 | 44 | 2 | 28 [ 40 | 8 | 24 | 163 | M8X20 |226
2PB 633-1HY99 | 360 [ 358 | 122 [ 177 | 140 | 336 | 135|281 | 183 55 [ 18 [193| 60 | 44 | 2 | 28 | 40 | 8 [ 24 [ 181 | M8X20 |226
2FB 713-1HY9Q | 382 [ 382 | 125 [ 177 | 140 | 333|144 1292|194 55 [ 18 [182| 60 | 44 | 2 | 28 | 40 | 8 [ 24 | 169 | M810X20 | 240
2PB 733-1HY99 | 382 382 | 125 | 177 [ 1401343144 (2921194 | 55 [ 18 [192]| 60 | 44 | 2 | 28 [ 40 | 8 | 24 | 179 | M810X20 | 240




TG

* TAIQI SEIKO »

1HY99 Rk LR ZER~

1HY99 two-stage pumb Dimension

R W e
A b
\E , All -~ ™
'\'\-S: \ A/ },"‘/J . > \\.
S i Nl 2 = 10°
N AT A 2 [ — ' el
& S LI N2 . \
| =l W=k t ' Y -
- el 1P X - E !
= e : .-
fp \ ,‘j Q::J } : §
cé?j{ A N\, i .:'__\. % e 1: x & e %
B =2 - :
< .
> T e
o— L{ F

ZPB 223-1HY99 | 285 [ 270 | 45 | 157 (125|288 | 89 214|128 | 40 | 14 | 217 ({106 |199| 51 | 43 | 2 | 24 | 40
ZPB 323-1HY99 | 297 | 289 | 46 | 157 | 125 | 302|100 | 227|141 | 40 | 14 |323|114|209| 51 | 43 | 2 | 24 | 40
ZPB 423-1HY99 | 322 | 315 | 58 | 157|125 | 316|108 | 240|154 | 45 | 14 | 322|153 | 219 53 | 43 | 2 | 24 | 40
2
2

20 | 42 | 186 | M6X15 |140

20 | 46 | 196 | N6X15 | 160
46 | 207 | NeX15 | 174
24 | 55 | 241 | MBXL5 | 200
24 | Th | 265 | N10X15 | 240

ZPB 523-1HY99 | 371|361 | 60 [177 | 140|383 [127 | 275|175 | b5 | 18 | 411 (145|255 | 60 | 44 28 | 40
ZPB T23-1HY99 | 426 1421 | 63 [177 140429 (144295197 | 55 | 18 | 426 | 162 [ 278 | 60 | 44 28 | 40

CO | CO | GO | GO | ©O
2
=







* TAIQI SEIKO »

TR ZERD (2R )

e XK L R A X RE

i Rk

ELH E hBTR

R R s

£ AR ] R A R AR S
Heb M 34m

BEAA ( 2.000mmaq ) REHMNE | | RRZRAGEERAERT |
RS A5 R AR AL e EATaR

BERBERES

#EA -
BB EESm AEIER | SnEmm
o, RES T aESkeLE

B A | (e SR E | HHEREA
AR A T MRS Kb S B R A

R A= E il 38 5 )
. . -4
WT’
RS ER R DA BINS BAZ B HEHRSTIRE | DUSRIERS 3R FEHE AR T EOeRRTE




Application example use for blowing

® Blow hoover exhaust

cool transpart air cushion

The gas and heavy

Wash the battle machine

Can collect all the bits

It is dry to use the

Alr cushion

oil gush out finng

. s high-pressre air

- fule
High pressure air [ 2.000mmaq}
adequate ventilation, Will reduce your
dependence on compressor

The domestic animal excrement

and dries up

driaz up ths va-ar
dheplel alle diops

il muler i srpty bottlas

Beverage bottle washing will drip dry,
Applicable to the foed industry

Subpoena transport

automatically after cut the Paper

Gelsh piece blew
and send off
s

cut xniferell and

Automatic collection
of plastic, cloth, paper cutting edge

The electrolvtic liguid

air knife

Ihe wircuil base
palle of dusl

R

diwp of waler | ™
2

prinLed
circunit hoard

The circuit board can be used to blow
a small blower Dust and debris

The oxygen supply in

o knife
= 2
- alr pumpg
VL / air

increasing the buoyancy easy to move

Puncher machine

ferments’ fieceness gas

sew-dusk
or rica husk-"

/
dischanging holes

High pressure airis blown intothe
Storage fecal greove, increase the
contact anea,and also suitable

for poliuted wastewater treatment

Powder body transport

~84 ||

medicine l

csshier affice

B i B 2‘1
=M 1|

=

t regards air as motive force to

incinerator

mix round

| alactrolytic
1 trough

trough, make the electrolyte circulate,
and repel adhering to the bubble and make
electroplate rapadly,the resuits is even.

The exhaust gas blows
smoking

breed aguatics

air sump
LY
o
OXYRE — —, «
j e &
=

water in the pool

he exhaust gas blowssmoking

sir pump
molding praduct

A
=~
™\ - 0 \ Y e
NN N

,_l" N n

cenvenient to is it press preduct of
talking shape after to take out

Print and force dryness

®,
2% o,
3 a N ——

SOMPress air spray hesd

Power body grains of body,etc,
air of raw materials transport

‘::-.\‘\_ eir
wind ) g air pump
knife F l
Ll I—g. i

dUriusprenidl neip tidze dii exndust

air pump air pump

discharging rapidly by the scattered
exhaust gas that appears,so as not to
cause pellution

M
wind knife §{_~

— .

7 o 4

4 (=&

=08 s,
£ =4 ‘ffﬁ' Y

L4~
i}

blow the moisture contmtto dry after
having car machine washing

enabling the printing color to dyr fast




TG

* TAIQI SEIKO »

Tl RZES (BR )

e XK L R WA X [P

P R EDD AL IR

FAREEDER , LRI R EL

Ef1 Rl Rt 75

RIEE SR

REn ARSI | 7 RE AR

g RIBEER SR
Tk

BEIAZHIE , ERAMARER

AR L

ok s R E RS | B8 SREE
B 7Rk

FRWA , Rk

Eii% 35

At R IFuE Wi 2 EE A

FlAE 2R ARGPES | 2F8 &

RESKIMISHEG &8t &
Rz BEPRRE

BREBENRDE | ARRER R
& IRARHIAR Tall: je

A0 T AT ITED i 2 Ab 2 4hFR

5
}
o

R H‘H‘x?ﬁ SHER

ok TR pe

Mt ALE

R

A EApif2 42

LRk AN

oil pressure device
I/—

—

IR




Application example

The sucking of the printing
machine of entwork edition

The sorption pressure fixed, in
order to facilitate the printing

operation

Print

ar pamp

suck oylinder
VYacuum sorption printing or tissu
e formation to
Ox  milk paper carton
filling machine

use for indraft

Blow hoover exhsust cool +transport air cushion

Eject the exhaust gas and
dust produced while weldingdrawing

7, filter of mastc gas

T e < Hilter case

blast ploe
”' __.‘ s uldlnl red
L f
=N A
Ve ‘/
A
Smoke and dust whenwelding

vacuum mode rowto the operator,

ensure health

Industry  hoover

EIW_

-
\ v Iecl."\

} dust cm'v)_&'
Factory always scrap residue onthe

machine, can smoke collection

Bean curd machinery

2r pLAp

Absorbing moisture and fixed
improve the quality of efficiency

The wesve cottom machine
suck silk

dbyrate
tie hols

line,

Vacuum dehydrate

gyro waoel
n\fe

h Sair ard waler
s3zregate ths air

Photo - engraving

SN T
S

air pump

NN\

Using vacuum suction force
protection film make flat,
industry

suitab

le for gravure

Make books machine

The pulp dehydration dehydration
dehydration, pollution, cloth

Keeping processing

Process ing
ra

7

T l_'—._1 -
s progassing Lha plolforn “ _-E.-—' = air pump i T.:'-
ir cump “oreaking ..--.
air g ‘u’i.“ }? | \:’:\}la;; air pump
v ~ i sl tunal L% PR . ;
F”"’" T S R
3 PLL S,
VYacuum milk box filled with Draw soybean delivery. to the Wiood, plastic and other non Tunnel with small work site, dust,
the attraction cleaning tank cleaning — magnetic objects Ffixed with poisonous gas, partial removal Press cloth will emit wvapor

The powder body transports

It

_—f—/L‘f,ili screen
N
‘~—-_;.-I \.

air pump

Plastic materials and other

granular objects. by blowing or

sucking to transport

Incomplete cloth deal with

air purmp
cleth
u",’ﬂ
cut off Incomplate
_suck d t S
,.u suck draugnt Acloth

@y

Cloth cutting processing cutting
cloth




* TAIQI SEIKO »

KAR LIRS -

T(SHANGHAI)CO.,LTD
1 021-69009655 021-69009656
FH1 . 13671659629

t£H : 021-69009657

BN : taigiseiko@163.com

Pt © www.taigiseiko.com

ik - EEHREEXER T RERILETTTS




	台崎风机样册_页面_01 副本
	台崎风机样册_页面_02 副本
	台崎风机样册_页面_03 副本
	台崎风机样册_页面_04 副本
	台崎风机样册_页面_05 副本
	台崎风机样册_页面_06 副本
	台崎风机样册_页面_07 副本
	台崎风机样册_页面_08 副本
	台崎风机样册_页面_09 副本
	台崎风机样册_页面_10 副本
	台崎风机样册_页面_11 副本
	台崎风机样册_页面_12 副本
	台崎风机样册_页面_13 副本
	台崎风机样册_页面_14 副本
	台崎风机样册_页面_15 副本
	台崎风机样册_页面_16 副本
	台崎风机样册_页面_17 副本
	台崎风机样册_页面_18 副本
	台崎风机样册_页面_19 副本
	台崎风机样册_页面_20 副本
	台崎风机样册_页面_21 副本
	台崎风机样册_页面_22 副本
	台崎风机样册_页面_23 副本
	台崎风机样册_页面_24 副本
	台崎风机样册_页面_25 副本
	台崎风机样册_页面_26 副本
	台崎风机样册_页面_27 副本
	台崎风机样册_页面_28 副本
	台崎风机样册_页面_29 副本
	台崎风机样册_页面_30 副本
	台崎风机样册_页面_31 副本
	台崎风机样册_页面_32 副本
	台崎风机样册_页面_33 副本
	台崎风机样册_页面_34 副本
	台崎风机样册_页面_35 副本
	台崎风机样册_页面_36 副本
	台崎风机样册_页面_37 副本
	台崎风机样册_页面_38 副本
	台崎风机样册_页面_39 副本
	台崎风机样册_页面_40 副本
	台崎风机样册_页面_41 副本
	台崎风机样册_页面_42 副本
	台崎风机样册_页面_43 副本
	台崎风机样册_页面_44 副本
	台崎风机样册_页面_45 副本
	台崎风机样册_页面_46 副本
	台崎风机样册_页面_47 副本
	台崎风机样册_页面_48 副本
	台崎风机样册_页面_49 副本
	台崎风机样册_页面_50 副本
	台崎风机样册_页面_51 副本
	台崎风机样册_页面_52 副本
	台崎风机样册_页面_53 副本
	台崎风机样册_页面_54 副本
	台崎风机样册_页面_55 副本
	台崎风机样册_页面_56 副本
	台崎风机样册_页面_57 副本
	台崎风机样册_页面_58 副本
	台崎风机样册_页面_59 副本
	台崎风机样册_页面_60 副本
	台崎风机样册_页面_61 副本
	台崎风机样册_页面_62 副本
	台崎风机样册_页面_63 副本
	台崎风机样册_页面_64 副本
	台崎风机样册_页面_65 副本
	台崎风机样册_页面_66 副本
	台崎风机样册_页面_67 副本
	台崎风机样册_页面_68 副本
	台崎风机样册_页面_69 副本
	台崎风机样册_页面_70 副本
	台崎风机样册_页面_71 副本
	台崎风机样册_页面_72 副本
	台崎风机样册_页面_73 副本
	台崎风机样册_页面_74 副本
	台崎风机样册_页面_75 副本
	台崎风机样册_页面_76 副本
	台崎风机样册_页面_77 副本
	台崎风机样册_页面_78 副本
	台崎风机样册_页面_79 副本
	台崎风机样册_页面_80 副本
	台崎风机样册_页面_81 副本
	台崎风机样册_页面_82 副本
	台崎风机样册_页面_83 副本
	台崎风机样册_页面_84 副本
	台崎风机样册_页面_85 副本
	台崎风机样册_页面_86 副本
	台崎风机样册_页面_87 副本
	台崎风机样册_页面_88 副本
	台崎风机样册_页面_89 副本
	台崎风机样册_页面_90 副本

